UGC NET 2021 Arab Culture and Islamic Studies

Topic:- GP_20NOV_A_SH1

1) Read the given passage and answer the questions that follow

The following table presents the details about the percentage (%) distribution of students and the number of boys in six
different colleges (A-F). There is a total of 12000 students in all the six colleges together. Based on the data in the table,
answer the questions.

College-wise Distribution of Students

College | |Percentage (%) of students |Number of Boys
A 12% 1000

B 9% 800

(o 26% 1800

D 18% 1200

E 29% 2400

F 6% 200

arferor 3 3w a1u siiest @ sienR uR gesil o Iaz Sifsie ¢

forgstifera aifere! o: fafdee FaIfencril (A - F) 3 csol &t 3ien iz fenfRil &6t gferordaar - fraur o1 fazor gzga ot 3 ef
FaiferencrIl 3 et et fenfPRil & Jizear 12000 3

JeIfdeEnery - ar faenffn o1 faazor

sreRrenerr | [RenfRil B gfereraar (% )ersa B sizear
A 12% 1000

B 9% 800

C 26% 1800

D 18% 1200

E 29% 2400

F 6% 200

What is the total sum of the number of girls in College-C, boys in College-D and girls in college-E together?

Fisifeener - C 3 crsfipsil &I, ssifdenern - D @ crsol &I siiR Hsifdencr - E 3 sl & A o1 @ APIbd o= 8 ?

[Question ID = 3576][Question Description = S2_qSNz_PG_GP2_Q01]
1. 3400

[Option ID = 14301]
2. 3800

[Option ID = 14302]
3. 3200

[Option ID = 14303]
4. 3600

[Option ID = 14304]
Correct Answer :-
e 3400

[Option ID = 14301]

2) Read the given passage and answer the questions that follow

The following table presents the details about the percentage (%) distribution of students and the number of boys in six
different colleges (A-F). There is a total of 12000 students in all the six colleges together. Based on the data in the table,
answer the questions.



College-wise Distribution of Students

College | |Percentage (%) of students |Number of Boys
A 12% 1000

B 9% 800

C 26% 1800

D 18% 1200

E 29% 2400

F 6% 200

arférr # U a1u snidest @ smenR uR gesil o Ia= S :

forrotifepa aifert ©: fafticar wsIfdencril (A - F) 3 cswml & e iR fRenfil & giereradr - fiRaur o1 faaeur yeqa ol & it
Jreiferencril 3 e et RenfRil &t 2izn 12000 3

aeIfdencrI - arR faenfel o1 faazor

sreRrererr | [Renfiil B yfereraar (% )crsat & sz
A 12% 1000

B 9% 800

C 26% 1800

D 18% 1200

E 29% 2400

F 6% 200

What is the respective ratio of the number of boys in College-C, the number of girls in College-B and the total number of
students in College-E?

Jraifdencrr - C 3 asal &t Iz, Fsifdencr - B 3 asfip:il &t e siiz asifdencrn - E 3 o frenfRil &t e o1 auor: siepurd = 3 ?

[Question ID = 3577][Question Description = S2_qSNz_PG_GP2_Q02]
1. 45:7:97

[Option ID = 14305]
2. 43:9:97

[Option ID = 14306]
3. 45:7:87

[Option ID = 14307]
4. 43:9:87

[Option ID = 14308]
Correct Answer :-
o 45:7:97

[Option ID = 14305]

3) Read the given passage and answer the questions that follow

The following table presents the details about the percentage (%) distribution of students and the number of boys in six
different colleges (A-F). There is a total of 12000 students in all the six colleges together. Based on the data in the table,
answer the questions.

College-wise Distribution of Students

College | |Percentage (%) of students |Number of Boys
A 12% 1000

B 9% 800

C 26% 1800

D 18% 1200

E 29% 2400

F 6% 200




College | |Percentage (%) of students |Number of Boys

aifért d fu 31U sfims @ MR R gosll @ IR SISt ©

forgotifepa aifert ©: fAafticar aarfdencril (A - F) 3 crswl & e iR Renfil & gfereradr - firaur o faarur yeqa ol & it

Jrsiferencril 3 e et RenfRil &t Jizen 12000 3

HBIfdENCRI - arR faeniekil o1 faazor

srefreerr | [Renflil B yfereraar (% )crsat & sz
A 12% 1000

B 9% 800

C 26% 1800

D 18% 1200

E 29% 2400

F 6% 200

What is the difference between the number of boys in College-E and the total number of students in College-F?
JalfdenerI - E 3 crsol &l 3z 3k dAstiencrr - F 3 qet fdeni2il &f sz o & a=i sidR 3 ?

[Question ID = 3578][Question Description = S2_qSNz_PG_GP2_Q03]
1. 1640

[Option ID = 14309]
2. 1760

[Option ID = 14310]
3. 1720

[Option ID = 14311]
4. 1680

[Option ID = 14312]
Correct Answer :-
e 1640

[Option ID = 14309]

4) Read the given passage and answer the questions that follow

The following table presents the details about the percentage (%) distribution of students and the number of boys in six
different colleges (A-F). There is a total of 12000 students in all the six colleges together. Based on the data in the table,
answer the questions.

College-wise Distribution of Students

College | |Percentage (%) of students |Number of Boys
A 12% 1000

B 9% 800

C 26% 1800

D 18% 1200

E 29% 2400

F 6% 200

arferept i U 31U 3fipsi @ MR U= Yosll d Iaz ifSe @

forratifeoa anfert ©: fAafticar ssIfdencril (A - F) 3 crswl &l Jiean iR Renfil & gfereradr - firaur o faaeur yeqa ol & it

JraiferencrIl 3 e et RenfRil &t Jizen 12000 3

HBIfdENcRI - arR faenfekil o1 faazor

Freifdenerr | [fenfifen &bt gfereraar (%)

TSt Pt zizear

A 12%

1000




preencrr | [Rrenffit 6 gRtreraar (%)crswt bt Fiz |
B 9% 800
C 26% 1800
D 18% 1200
E 29% 2400
F 6% 200

In which of the following colleges is the total number of students equal to the number of girls in College-E?
forgatifepa fop1 waIfcrencrr 3 ferenfRRil &I et dAwen, FsIfdencrr - E & asfis:l &I e @& wrer 3 ?

[Question ID = 3579][Question Description = S2_qSNz_PG_GP2_Q04]
1. A

[Option ID = 14313]
2. B

[Option ID = 14314]
3. C

[Option ID = 14315]
4. D

[Option ID = 14316]
Correct Answer :-
e A

[Option ID = 14313]

5) Read the given passage and answer the questions that follow

The following table presents the details about the percentage (%) distribution of students and the number of boys in six
different colleges (A-F). There is a total of 12000 students in all the six colleges together. Based on the data in the table,
answer the questions.

College-wise Distribution of Students

College | |Percentage (%) of students |Number of Boys
A 12% 1000

B 9% 800

(o 26% 1800

D 18% 1200

E 29% 2400

F 6% 200

arferept A f3U 319 sfidpsl @ 3R Uz gesll @ 3az difsre @

forgstifera aifer! o: fafdeor FaIfencril (A - F) 3 csol &t izen iz fenfRi &6t gferordaar - fraur o1 fazor gzga ol 3 ef
JaiferencrIl 3 et et fenfRRil & Fizear 12000 3

JeIfdenerI - ar faenffn o1 faazor

orifRiencrr | Renfii S gRierdar (%)asal &t iz
A 12% 1000
B 9% 800
C 26% 1800
D 18% 1200
E 29% 2400
F 6% 200

The number of girls in College-A is approximately what percentage of the total number of students in College-B?

FaIferencra - A 3 crsiendl &l vizoan, #Asifdenert - B 3 ferenf2lil &bl ayer Fzean I comer fobden yferera 3 ?



[Question ID = 3580][Question Description = S2_qSNz_PG_GP2_Q05]
1. 50

[Option ID = 14317]
2. 35

[Option ID = 14318]
3. 45

[Option ID = 14319]
4. 40

[Option ID = 14320]
Correct Answer :-
e 50

[Option ID = 14317]

Topic:- GP_20NOV_B_SH1

1) Which parenting style is the one in which parents seem cool and controlling their interactions with their children (low
warmth, high control):

forgotferRaa 3 31 as Dlot AT Ugad (Ucer) 9ictl & =13l Arer - T 319l <l @ AT 31Ul 3id:fp 3 81/ - 9o 3iiR foriqa Yeila aid 3 :
(foraar sptsiion, 3ca foriqur) :

[Question ID = 3581][Question Description = S2_qSNz_PG_GP2_Q06]

1. Authoritative parents/yiférifs® amer - fier [Option ID = 14321]

2. Authoritarian parents/snfermif¥a arar - fdar [Option ID = 14322]

3. Permissive parents/srojsiue e - fiar [Option ID = 14323]
4. Rejecting/Neglecting/Uninvolved parents/3Rdi®R @0l arcl / 3UsT ol drel / 3idsifdd of alol arcl arr - fiar [Option ID = 14324]

Correct Answer :-
e Authoritative parents/yiférpifsa amar - faar [Option ID = 14321]

2) Which of the following assessment methods provides feedback, that is non-evaluative, occurs before or during
instruction, and guides teachers in planning and improving instruction?

forgatfciiRaa vt PeAidel Ul 3 BIsd® Ygrel fop=r SIdT 3, Sil 31R - JcIidol URD Il 3, 36Ie9lel A gd AT IAD SRRIel afed il 3 3R
3oL 9reT el ANSToll Follol 311 333 JLR cllol 3 3eAUD] DI ARGl Bl 3 :

[Question ID = 3582][Question Description = S2_qSNz_PG_GP2_Q07]

1. Summative/=emcas [Option ID = 14325]

2. Criterion-referenced/=isfifa @it [Option ID = 14326]
3. Formative/fsmfuncaas [Option ID = 14327]

4. Norm referenced/3icféfa et [Option ID = 14328]

Correct Answer :-
o Summative/:encaa [Option ID = 14325]

3) Given below are two statements
Statement I: Parents and teachers have a highly significant impact on the maturation aspect of cognitive development

Statement Il: Schemes are an organised system of actions or thought that allow us to mentally represent or "think about" the
objects and events in our world

In light of the above statements, choose the correct answer from the options given below

ofi <1 perer Ru sme 3 ¢

el - | : Jstrelicaas Rt @ uf¥uddet Usg Uz Hrdr - firar siiz Rigial o1 aga & #cwagef Ysna usar 3

@erel - || : Asrend fepRmail a1 foraml & Fa1fda cravend Bl 3 Sil s sardl gfornm & arqgail silz acoinsil @l #Anif¥e Hu A gfefsifira wwor ar
SWRRD Doll B Alclid A, oA Y 31w frwedl 3 A JE a2 @I ool HIFME :

[Question ID = 3583][Question Description = S2_qSNz_PG_GP2_Q08]

Both Statement | and Statement Il are true/wserwr | aiiz |l Sioit 2er & [Option ID = 14329]

Both Statement | and Statement Il are false/@serwr | 3iiz || Siaif sRicer & [Option ID = 14330]
Statement | is true but Statement Il is false/@emol | A1 8 , fboq @eret |l sRir & [Option ID = 14331]
Statement | is false but Statement Il is true/memwr | sRic &, fboq ®erwr || A= & [Option ID = 14332]

A W N -

Correct Answer :-



e Both Statement | and Statement Il are true/@emr | 3iR 11 Glell i1 & [Option ID = 14329]

4) ldentify the types of cognitive load that make demands during learning
A. Intrinsic

B. Gestalt

C. Extraneous

D. Extinction

E. Germane

Choose the correct answer from the options given below:

3 ASIGIcAD HR D YPRI bl usdlol o3 Sl MPIA D IR HiST R 3 ¢

A. srif¥s

B. sréice

C. s

D. faeia

E. Jora

sifa fou s1e frpeul 9 A A IR DI w6l HIfSIE ¢

[Question ID = 3584][Question Description = S2_qSNz_PG_GP2_Q09]

1. A, B and C only/daet A, B siiz C [Option ID = 14333]
2. B, C and D only/a@5aa B, C sfiz D [Option ID = 14334]
3. A, Cand E only/aaea A, C iz E [Option ID = 14335]
4. C, D and E only/asaer C, D siiz E [Option ID = 14336]

Correct Answer :-
e A, Band Conly/dact A, B 3iiz C [Option ID = 14333]

5) Match List | with List I

List | List Il
Erik's stages of Psychosocial Approximate
Development Age
- A I. Young
A. Basic trust versus Basic mistrust
adulthood
Il. Late
B. Initiative versus Guilt
adulthood
C. Intimacy versus Isolation lll. 3 to 6 years

IV. Birth to 12-

D. Ego integrit Despai
go integrity versus Despair 18 months

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hife

et -1 et -l

(cf¥e & FeiRIENRID fRIpRT & azvl) (aafoore 3Ry )

A. diiferes Rreart seat difere sifdrart |. gd @RIFmar

B. uscl dottat SIa Il. arg & arzwar

C. 3[ARSIAT Tl ThIhbIbuT . 33 6 ad

D. 3183 AcATGTSOT ToIH G IV. St @ 12 - 18 Fdlor

il fou s1e frseul 3 3 A8 IR gfor ¢

[Question ID = 3585][Question Description = S2_qSNz_PG_GP2_Q10]
1. A-lV,B-U, C-l,D-U

[Option ID = 14337]
2. A-Ul,B-l, C-ll,D-lv



[Option ID = 14338]
3. A-L,B-ll, C-lV, D-lll

[Option ID = 14339]
4. A-l, B-lv, C-lL, D-l

[Option ID = 14340]

Correct Answer :-
e A-LV,B-l, C-l,D-U

[Option ID = 14337]
6) When we design the experiment in such a way that the variations caused by extraneous factors can all be combined
under the general concept of "chance", it represents which principle?

S g fepfl udlerur (varmuf¥dic) o1 fomeilvr 331 YR @ 3 b ar@r PRI GRI 3cusd faficerarsii (df¥ueizn) ol eI (aiz1) &l ARIea
AERYN @ 3ideid IS e st Irpar 8, al w1s v Rigia @1 foreuvt @wear 3 ?

[Question ID = 3586][Question Description = S2_qSNz_PG_GP2_Q11]

Principle of randomization/=mefessbiasur @1 Bigia (fdRuc sifw Issasienr) [Option ID = 14341]

Principle of replication/ysrmgfer @1 RBrgia (fdfRmet sifw cfidoret) [Option ID = 14342]

Principle of local control/zemsfter foriqur @1 RBrgia (fif¥uet sifw cliaser weler) [Option ID = 14343]

Principle of operational control/3ifdgicae foriqur @1 Bigia (ff3uet sifw sifuderer wdier) [Option ID = 14344]

AN wN -

Correct Answer :-
® Principle of randomization/=mefesdbiassur @1 Bigia (iR sitw Issanssioer) [Option ID = 14341]

7) Positivism as an epistemological program is characteristic of
SicRMeRT BRigH & U d gragars fpadl fadar 3 ?

[Question ID = 3587][Question Description = S2_qSNz_PG_GP2_Q12]
Social sciences/amenfSip fasier [Option ID = 14345]

Performing Arts/ygefer et [Option ID = 14346]

Natural sciences/ympfere fe=irer [Option ID = 14347]

Legal studies/faférs sreerieor [Option ID = 14348]

A W N -

Correct Answer :-
® Social sciences/xmfed fasior [Option ID = 14345]

8) ldentify the CORRECT sequence of empirical steps in the linear model of the research process

ofter yfepan & 3Raes yfewirer 3 smopnfde arvil & A8 sigiaH 6l usdrel HIfe :

[Question ID = 3588][Question Description = S2_qSNz_PG_GP2_Q13]
1. Sampling — theory — interpretation — collection — validation — hypotheses/yferariet — RBrgia — fordaet — Jisgur — ygifiaszor — yraaseuon [Option ID

= 14349]

2. Theory — hypotheses — sampling — collection — interpretation — validation/Rigia — yraacuslt — yferarrel — favr — fordast — yemuftaszur [Option 1D
= 14350]

3. Validation — theory — hypotheses — collection — sampling — interpretation/gsmvfteszur — Rigia — Yrabeust — o — yferriel — fordaet [Option ID =
14351]

4. Collection — sampling — hypotheses — theory — interpretation — operationalization/sEu — YyferRrIel — Yraawcusr — RBigia — fordaer —
JAfpRIcarchanul (3Mmvmeicisane) [Option ID = 14352]

Correct Answer :-

e Sampling — theory — interpretation — collection — validation — hypotheses/yfercrior — Rigia — fordaet — g1 — yamvfianr — yraaeusn [Option 1D
= 14349]

9) Which of the below mentioned approaches fall under the Quantitative Approach?
A. Simulation approach

B. Projective technique

C. Inferential approach

D. Depth interview

E. Experimental approach

Choose the correct answer from the options given below:

forgotferR3ae 3 31 Dot A ANPRI AGIIHD ABPEEP o 3ideia 3 ?
A. arggvr sifépra (ATSFHCIeroT TYIe)

B. gerdl awmofie (Qeifdea eaofias)

C. srgpnfore 3ifEE (3oBIIRICT Tye)



D. s1s01 AIgIIcDR

E. grIf® ifdenr

il f3u a1 fraseul 3 A W& IR BT Il BRI :

[Question ID = 3589][Question Description = S2_qSNz_PG_GP2_Q14]

1. A, Cand E only/daet A, C 3iiz E [Option ID = 14353]
2. B, C and E only/dsaet B, C siiz E [Option ID = 14354]
3. B, C and D only/daer B, C siiz D [Option ID = 14355]
4. A, B and C only/dsaet A, B siiz C [Option ID = 14356]

Correct Answer :-
e A, CandE only/aaet A, C iz E [Option ID = 14353]

10) Match List | with List Il

List | List Il

A. Ex post facto I. Finding a solution for an immediate problem facing a society or an industrial/business
Research organisation

B. Applied Research Il. Related to some abstract idea(s) or theory

C. Conceptual Research [lll. Development of hypotheses rather than their testing

D. Exploratory Research [IV. No control over variables, reports only what has happened or what is happening

Choose the correct answer from the options given below:

It -1 Bt el -1l A gakma Hifde

et -1 et -1l

A. orRifaz ||, it Jrerrst srerar siienf3re / RMaNRI FoToel B AT

ofler Sul-erd ArcIfeld JAIRAT DI AAIEGT GGoll

zf'la TTL 1. o=t g R (i) srerar Rigia 24 it

C.

rigercas ||l adigror @ Ferrel Uz gradsedeit ol iRt

orTer

D. @eadt  |IV. =Rl uz @I foriqur o1él, dac 3= &I SeIPR! Sar 3 Sl 8l bl
ofex @& areran 31 381 3

il 3w o1 el 3 A At I gfom :
[Question ID = 3590][Question Description = S2_qSNz_PG_GP2_Q15]

A-lV, B -L, C-llL, D -l [Option ID = 14357]
-1ll, B -1I, C -1, D -IV [Option ID = 14358]
IV, B -1, C -II, D -1Il [Option ID = 14359]

1.

2. A
3. A
4. A-1,B-lll, C-Il, D -1V [Option ID = 14360]

Correct Answer :-
e A-lV,B-l, C-ll, D -l [Option ID = 14357]

11) Peer-to-peer communication is
HAGE A AADE DT AFYUYT 3 :

[Question ID = 3591][Question Description = S2_qSNz_PG_GP2_Q16]

1. Horizontal/ iferst

[Option ID = 14361]
2. Convoluted/3afera

[Option ID = 14362]
3. Non-transactional/3Iz - Jiasif¥s

[Option ID = 14363]
4. Authoritarian/siferarzarct

[Option ID = 14364]

Correct Answer :-
e Horizontal/giferst

[Option ID = 14361]

12) The main challenges of grapevine communication are:
A. Its formal nature
B. Distortion

C. Misunderstanding



D. Source anonymity
E. Conformity

Choose the correct answer from the options given below:

SIOIYAIG JFFYUCT Bl Faou1 gollferai 3 ?

A. s3rchl siiuanf¥e ggfer

B. fersuur

C. srcrawset

D. Ja sfoimpica

E. sropeudr

ofid o s1u fwseal & A A8} IR BT <RIl BT :

[Question ID = 3592][Question Description = S2_qSNz_PG_GP2_Q17]

. A, Band C only/dact A, B 3iiz C [Option ID = 14365]
. B, Cand D only/daea B, C siiz D [Option ID = 14366]
. C, D andE only/a3qe C, D siiz E [Option ID = 14367]
. A, Cand D only/a@act A, C 3liz D [Option ID = 14368]

A W N -

Correct Answer :-
e A, Band C only/aaa A, B siiz C [Option ID = 14365]

13) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Students do not form part of the media audience
Reason R: Due to the all-pervasive digital technology, students have become interactive media users

In light of the above statements, choose the correct answer from the options given below

il 3t werel fRu s1e 3@ uep sifdraperst (Assertion A) @ %u 3 iz ¢RI 3@ PRYT (Reason R) & o 3 :
sifdrperot (A) : frenell, sfifar - ofiar @ swer oidl &

@Rt (R) : ad - cas B3fca Qef3rbl & Gerzdamu feneff soa: fRpzmefier #fif3en geisiaf gt s 3
IWRITP PYall D el A, ofld Bu faaseal 3 A A8 Iar o1 aRIe1 Hifste :

[Question ID = 3593][Question Description = S2_qSNz_PG_GP2_Q18]

. Both A and R are true and R is the correct explanation of A/(A) siiz (R) @il 311 8 3liz (R), (A) &t 3 =en & [Option ID = 14369]

. Both A and R are true but R is NOT the correct explanation of A/(A) 3iiz (R) 31 &t & uog (R), (A) & 38 = o8t 8 [Option ID = 14370]
. Ais true but R is false/(A) e 3, aftpar (R) sri=r @ [Option ID = 14371]

. Ais false but R is true/(A) sricx 3, cifdpet (R) 31 3 [Option ID = 14372]

A W N -

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) siiz (R) gleil 2 2 3iR (R), (A) &t 38t mezn 3 [Option ID = 14369]

14) ldentify the CORRECT sequence of the following communication forms:
A. Mass

B. Public

C. Group

D. Inter-personal

E. Intra-personal

Choose the correct answer from the options given below

forgatifepa @ - Fasul @ Al siglaa bl usdre Hifse ¢
ol - AT
SToldl

o

A.

B.

C. w8
D. siaz - Jaftpd
E.

3fodl: - dRARRPD
ofix feu a1 fameul i A A8 Iz b1 RIel BT :



[Question ID = 3594][Question Description = S2_qSNz_PG_GP2_Q19]

1. A, D, E, B, C [Option ID = 14373]
2. D, E, B, C, A [Option ID = 14374]
3. E, D, C, B, A[Option ID = 14375]
4. B, C, A, D, E [Option ID = 14376]

Correct Answer :-
e A D, E, B, C[Option ID = 14373]

15) Match List | with List Il

List | List Il

Types of noise in communication/Characteristic feature

A. Physical I. Barriers within the sender or receiver
B. Physiological 1. Wandering thoughts

C. Psychological lll. Use of jargon

D. Semantic IV. Mechanical distortion

Choose the correct answer from the options given below:

et -l oot 3 -1l A Fgafera HifSie :

xet -1 rxeh -1

(T 3 9k D YDbR) (3ifdreTigdTIe fadraars)

A. oy |. QU AT SBUIdl @ HEA AT
B. 9Rl: fapica® 1. sperorefier ferare

C. Feifsnford 1. fafdree - orssrachl @1 gRIleT

D. orecreffersiror IV. anfoqa fersuvr

il 3w o1 fcul 3 A At I gfom :
[Question ID = 3595][Question Description = S2_qSNz_PG_GP2_Q20]

A -1V, B -1, C-Il, D -lll [Option ID = 14377]
A-l, B -ll, C-lll, D -1V [Option ID = 14378]
A-lll, B -1V, C -1, D -1l [Option ID = 14379]
A-ll, B -lll, C -1V, D -I [Option ID = 14380]

AW N =

Correct Answer :-
e A-IV,B-I, C-Il, D-lll [Option ID = 14377]

16) The incomes of Ravi and Kavita are in the ratio 2:3 and their expenditures are in the ratio 3:5. If each saves ¥ 100,
then Ravi's income is

A 3fiz ofder &1 31 2 @ 3 @ 3rgurd 3 3 3R IoId R I 3iourd 3 @ 5 3 3PR yRw ¥ 100 wad o 3 dl A dl smra 3 ¢

[Question ID = 3596][Question Description = S2_qSNz_PG_GP2_Q21]
1. 2200

[Option ID = 14381]
2. 3600

[Option ID = 14382]
3. 3400

[Option ID = 14383]
4. 100

[Option ID = 14384]
Correct Answer :-
e 3200

[Option ID = 14381]

17) The new cost of a mobile which has been discounted by 15% is ¥ 3230. What was the cost of the mobile originally?
15 yferora & g o A1er Aldrse @I ol e X 3230 3 Hiarsel oI YRS Jed a=r o ?

[Question ID = 3597][Question Description = S2_qSNz_PG_GP2_Q22]
1. 3675

[Option ID = 14385]
2. 3650

[Option ID = 14386]
3. %3600

[Option ID = 14387]
4. %3800

[Option ID = 14388]



Correct Answer :-
o 33675

[Option ID = 14385]

18) The product of two positive consecutive odd integers is 1 less than six times their sum. One of the integers is
Sl "olIcId BHPIA AR Yuifas T IUIeIbe, Iold APThel D 6 - In A 1 A & Sloil 3 A v yuife 3 :

[Question ID = 3598][Question Description = S2_qSNz_PG_GP2_Q23]
1.7

[Option ID = 14389]
2.9

[Option ID = 14390]
3. 15

[Option ID = 14391]
4. 13

[Option ID = 14392]
Correct Answer :-
o 7

[Option ID = 14389]

19) Given below are two statements
Statement I: A number that has factors other than 1 and itself is called a composite number
Statement Il: 23 is the only odd prime number

In light of the above statements, choose the correct answer from the options given below

il ol @l fdu sre 3 ¢

ool - | ;v A, RSraet 1 3k asizen =i & suade i 8, U AMBe FeAT AT AYTh AW B Sl 3
@l - || : daet 23 & v fauet w6 =0 3

JURITP Dol D 3Tl 3, ol fSu 31u fameul 3 A A8l 3= @1 =6t HifSTe &

[Question ID = 3599][Question Description = S2_qSNz_PG_GP2_Q24]
1. Both Statement | and Statement Il are true/aerer | 3ii2 |1 Sleil e &

[Option ID = 14393]
2. Both Statement | and Statement Il are false/a@ermr | 3iz || Glail sRicT &

[Option ID = 14394]
3. Statement | is true but Statement Il is false/@eror | 31 3, ifdbor dert || sRiT 8

[Option ID = 14395]
4. Statement | is false but Statement Il is true/aeror | arica 3, Afdper aweret 1 Jdcer 3

[Option ID = 14396]
Correct Answer :-
e Both Statement | and Statement Il are true/wmerer | 3iiz 11 ol 3 3

[Option ID = 14393]

20) Match List | with List I

List | List I

Three numbers Their average
A. 40, 32, 33 |I. 38

B. 35, 36, 40 |ll. 36

C. 33, 36, 39 |lll. 35

D. 30, 38,46 |IV. 37
Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

et -1 Rreht -

(cfie1 Fizeme) (SotepT 3R (Iizs=) )
A. 40, 32, 33 . 38

B. 35, 36, 40 1. 36

C. 33, 36, 39 Il. 35

D. 30, 38, 46 IvV. 37




offa fou o1 frpeul 3 3 A I gforw ©

[Question ID = 3600][Question Description = S2_qSNz_PG_GP2_Q25]
1. A-IV,B-1,C-1l,D-1lI

[Option ID = 14397]
2. A-1I,B-1IV,C-1,D-1ll

[Option ID = 14398]
3. A-1L,B-1V,C-1I,D-1

[Option ID = 14399]
4. A-IV,B-1l,C-1ll,D-1

[Option ID = 14400]
Correct Answer :-
e A-IV,B-1,C-Il,D-1ll
[Option ID = 14397]

21) Advertising "Testimonials” are frequent instances of this fallacy
'gaAIu1 I fdsiue @l fordeifciiRad 3 3 fopaa Sy o> agar ol dIcl IGI8WT & ?

[Question ID = 3601][Question Description = S2_qSNz_PG_GP2_Q26]
1. Argumentum ad ignorantiam (ignorance)/3iefdiocat Bs sooilfoesa (3rroldr)

[Option ID = 14401]
2. Argumentum ad Misericordiam (appeal to pity)/smediocs us ifsmifSRier (eI &I E)E)

[Option ID = 14402]
3. Argumentum ad Populum/se{ficea s urgets

[Option ID = 14403]
4. Argumentum ad Verecundiam (authority)/sme=fdlocat us Rypfosem (YIfidR)

[Option ID = 14404]
Correct Answer :-
e Argumentum ad ignorantiam (ignorance)/smsdiocd us sooifoeamEl (3ISToeldn)

[Option ID = 14401]

22) If 'some women are writers is true, which of the following codes are CORRECT
A. 'All women are writers' false

B. 'All women are writers' is true

C. 'No women are writers' is false

D. 'Some women are not writers' is undetermined

Choose the correct answer from the options given below:

afe ' o Afdars afRaem § aca 3, a foraferRaa 3 A oler A o A8 & ?
A. ‘it aifdemd cifgerd 3 sriea 3

B. 'w3it s1fdcme cifRgome & aea 3

C. '@ afden aRaew®r off 3’ sr1ca 3

D. 'go afdend cffgen ol & siforerifya &

il fou s1e frpeul 3 A I IR DI TI6T HIfSIE ¢

[Question ID = 3602][Question Description = S2_qSNz_PG_GP2_Q27]
1. Aand B only/@act A siiz B

[Option ID = 14405]
2. Band C only/d@aer B siiz C

[Option ID = 14406]
3. Cand D only/dae C siiz D

[Option ID = 14407]
4. Band D only/dac B siz D

[Option ID = 14408]
Correct Answer :-
e Aand B only/dact A 3i B
[Option ID = 14405]



23) Which of the following code correctly represents the figure and mood of the argument?
No musicians are Italians

All barbers are Musicians

Therefore, No barbers are Italians

Choose the correct answer from the options given below

forgotferRaa 31 3 PBlel AT Gc AT B PR dUT YPR Bl A3l foreuvr asar 37
I Foflamr secfl ®r ofél 3

Mt ond FeliaeR &

3IeT: I olré sceil @I o1dl 3

[Question ID = 3603][Question Description = S2_qSNz_PG_GP2_Q28]
1. EAE-1/$u$-1|

[Option ID = 14409]
2. EAE-I/$ug- I

[Option ID = 14410]
3. EAE-II/Ses- Il

[Option ID = 14411]
4. EAE-IV/§ug- IV

[Option ID = 14412]
Correct Answer :-
® EAE-I1/§dus-|
[Option ID = 14409]

24) If a jar is temporarily removed from its locus the non-existence of the jar on the floor is
afe fpft sacdaret (siR) @1 srens WUA 1ol Feurel (clibr) A el f3ar sie q wef uz addrer T soif3dra 3 :
[Question ID = 3604][Question Description = S2_qSNz_PG_GP2_Q29]

1. Upamana (Comparison)/3udrel (dcioll) (eif¥sior)

[Option ID = 14413]
2. Arthapatti (Implication)/srerfufer (forfaaref) (socfiadoror)

[Option ID = 14414]
3. Anumana (Inference)/ 3ol (soW31)

[Option ID = 14415]
4. Anuplabdhi (Non-cognition)/ siequcifeer (ofot - dfdo19ror)

[Option ID = 14416]

Correct Answer :-

e Upamana (Comparison)/3udiol (dqctol) (cbaifsior)
[Option ID = 14413]

25) The knowing self knows objects through the instrumentality of the Indriyas and the existence of the Indriya, is proved
by

ST SRI aq3il @ sfogdl @ ATeel SR SITel Sl 3 3R sfogil @1 sif¥ara yanfora e sirar 3

[Question ID = 3605][Question Description = S2_qSNz_PG_GP2_Q30]

1. Arthapatti/sterfufer grr

[Option ID = 14417]
2. Anuplabdhi/ srquetfeer gt

[Option ID = 14418]
3. Anumana/3ig#iel GRI

[Option ID = 14419]
4. Upamana/3udiiel gRI

[Option ID = 14420]
Correct Answer :-
o Arthapatti/smerfufer grar
[Option ID = 14417]

26) Match List | with List Il

IList | List Il




(Activity) (File Type)
IA. Recording a song to play on an iPod l. .zip

B. Saving a video Il. .mp3

C. Sending a photo to someone using your mobile|lll. .mp4
D. Compressing a folder of files IV. .jpeg

Choose the correct answer from the options given below:

gl -1 @ 3 -1l A Fgafera Hifste ¢

oret -1 Rreh -1l

(foge - @erra) (wrIscl & goR)
A. gD 3ré dis uz sfia seior @ fere R¥ais war I. .35 ané ot
B. v difsear Adra won Il. .oar di 3
C. 31Ul Adrsel Bl YAPI B U b2l & WIeT fston ll. .oa di 4
D. U BIEA @ BIcs: Bl BIYA Bl IV, .31 di 5 sit

il feu aru faasedl 3 A 8 3R gforu :

[Question ID = 3606][Question Description = S2_qSNz_PG_GP2_Q31]
1. A-I,B-ll,C-1,D-IV

[Option ID = 14421]
2. A-IV,B-1Il,C-1I,D-I

[Option ID = 14422]
3. A-1ILLB-Il,C-1V,D -1

[Option ID = 14423]
4. A-11,B-11I,C-1IV,D-I

[Option ID = 14424]
Correct Answer :-
e A-I,B-Ill,C-1,D-1IV
[Option ID = 14421]

27) Kavita uses a Wifi adapter to connect the computer to an interactive whiteboard.

Which one of these statements is false?

BT T arf - GBI TSR BT PRI B Bl U ciicAipnofier arsedls 3 siisol 3 ol 3 forolifpa werel 3 3 Bla 3R 8 ?

[Question ID = 3607][Question Description = S2_qSNz_PG_GP2_Q32]
1. Wifi has a greater range than Bluetooth/zIse IS @1 35 scf cer 3 Surer 8ir 8

[Option ID = 14425]
2. Wifi signals are capable of passing through solid objects/ar$ wr§ @ Risorct ol uarelf & dta 3 off uR w2ol 3 9wl &

[Option ID = 14426]
3. Bluetooth has a greater range than Wifi/sciger @t 35t ar$ - wr$ 3 serret aiar 3

[Option ID = 14427]
4. Bluetooth signals are capable of passing through solid objects/scp ¢l @ Roiet 311 ucrelf @ dfa 3 oft ur w2 3 et &

[Option ID = 14428]

Correct Answer :-
e Wifi has a greater range than Bluetooth/zrse €IS @I 331 sc],c¥ 3 SRACT 8l &

[Option ID = 14425]

28) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: The Internet is very beneficial to students in all aspects

Reason R: The Internet opens doorways to a wealth of information, knowledge and educational resources thereby increasing
opportunities for learning in and beyond the classroom

In light of the above statements, choose the correct answer from the options given below

oiid ol Pl fGu 3w 3 @ U Ifdrdeat (Assertion A) @ ¥u 3 3R 2RI 3D PRI (Reason R) @5 »u 3 :
sifdrperet (A) @ seole feneffl & fere il efScmlur A aga swurer aner 3

®RuT (R) : sedic Faesil, ol 3R 9igifdTe - JArersll Bl YgRar oI $R IgIfed o & PRI B & 3062 AT WA W APHH D agol D
3AAZ YO 2l 3

SURITh Doil D Il A, ofld fGu famcdl 3 A 7l 3a= &1 wRIel Hifsrw :



[Question ID = 3608][Question Description = S2_qSNz_PG_GP2_Q33]
1. Both A and R are true and R is the correct explanation of A/(A) 3l (R) gleil 31 2 3z (R), (A) &t 3 careen 3

[Option ID = 14429]
2. Both A and R are true but R is NOT the correct explanation of A/(A) 3iiz (R) cleil 31 & udoq (R), (A) 6 3 w=men ot 8

[Option ID = 14430]
3. Ais true but R is false/(A) e 3, aifdper (R) 3ricr 3

[Option ID = 14431]
4. Ais false but R is true/(A) sric 3, cifepal (R) 31 2

[Option ID = 14432]

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) 3iiz (R) gleil 311 & 3i2 (R), (A) &I 3l =iz 8

[Option ID = 14429]

29) Identify the CORRECT order of the following data transfer rates measured in bits per second (bps) ranked from largest
to smallest

A. 1500 kbps
B. 1500 Mbps
C. 1 Mbps
D. 1 Gbps

Choose the correct answer from the options given below

it gfr ABs (@t o w2r) 3 A 51T 3T - SHEaIRVI - T D §3 A VI A TP B UsHIe! BB
A. 1500 o t di v

B. 1500 war & df o1

C. 1 ga & dt v

D. 1 oft &t ot vt

il fou s1u frapeul 3 2 & 3R BT a6l HIfSIE ©

[Question ID = 3609][Question Description = S2_qSNz_PG_GP2_Q34]
1. D,B, A, C

[Option ID = 14433]
2. B,D,C, A

[Option ID = 14434]
3. B,A,D,C

[Option ID = 14435]
4. B,D, A C

[Option ID = 14436]

Correct Answer :-
e D B,AC

[Option ID = 14433]

30) Given below are two statements
Statement I: You can add attachments of any file size to an email.
Statement Il: You can only send emails from a laptop computer.

In light of the above statements, choose the correct answer from the options given below

il &1 weror Ru are 3 :

@era - | : 3mu et 3ht Brdar A1EST @I S 3 3icaAdc D WU A SIS ADA &
el - |l : 3 dact &y - 3u wIRgez A & e NS ADA 3

SURITS el B 3MIelid #, ofi fGu fpcul 3 A I IR BT TR DI :

[Question ID = 3610][Question Description = S2_qSNz_PG_GP2_Q35]
1. Both Statement | and Statement Il are true/erer | 3ii2 || Slell 3 &

[Option ID = 14437]
2. Both Statement | and Statement Il are false/@ermr | 3iz || Glail sRiT &

[Option ID = 14438]



3. Statement | is true but Statement Il is false /et | 31 2, cifdbor @werat || 3RIT 2

[Option ID = 14439]
4. Statement | is false but Statement Il is true/aeret | srRica 3, aifdbet weret | Jer 3

[Option ID = 14440]

Correct Answer :-
e Both Statement | and Statement Il are true/wmerm | 3iiz |1 Sloll 3 &

[Option ID = 14437]

31) What are essential for the formation of photochemical smog?
A. Oxides of sulphur

B. Oxides of Nitrogen

C. Volatile Organic Compounds

D. Water Vapour

E. Sunlight

Choose the correct answer from the options given below:

gPI9I - IRIRIfOIP &fd - PIee D dolol D 1T Blol A HTARADB & ?
A. IcB3 D sifass

B. oIEgisial @ sifass

C. aruefia erdfore iifdrem

D. Sterarsu

E. 3 - goorer

il feu aru faedl 3 A A8 IR D1 WRIet B :

[Question ID = 3611][Question Description = S2_qSNz_PG_GP2_Q36]
1. A, Band Conly/@act A, B 3z C

[Option ID = 14441]
2. A, B, Cand D only/dae A, B, C 3iiz D

[Option ID = 14442]
3. B, C, D and E only/daer B, C, D iz E

[Option ID = 14443]
4. B, Cand E only/a@ac1 B, C iR E

[Option ID = 14444]

Correct Answer :-
e A, Band Conly/dac A, B siiz C

[Option ID = 14441]

32) What is the CORRECT sequence of occurrence of various atmospheric layers from earth's surface?
A. Thermosphere

B. Stratosphere

C. Mesosphere

D. Troposphere

Choose the correct answer from the options given below

gedl & Adas A HuR faftieor arpiscila udl &b sufderfer or 38 @of = 8 ?
A. amaavsda

B. mramasvsa

C. seaavS

D. siv@ose

il fou s1u frpeul 3 A & IR BT a6l HISIE ¢

[Question ID = 3612][Question Description = S2_qSNz_PG_GP2_Q37]
1. D,B, A, C

[Option ID = 14445]



2. D,B,C, A

[Option ID = 14446]
3.B,D,C, A

[Option ID = 14447]
4. C,B,D, A

[Option ID = 14448]
Correct Answer :-
e D B,AC

[Option ID = 14445]

33) Which one of the following climate change proxies is not the terrestrial biotic climatic proxy?
forgatferRaa 3 3 Plat sterary uf¥ader yferadft, uif¥fa Sia srerary gferad) ot 3 ?

[Question ID = 3613][Question Description = S2_qSNz_PG_GP2_Q38]
1. Boreholes/fig - ff5g (4R - alc=d)

[Option ID = 14449]
2. Leaf physiology/uq - @bt

[Option ID = 14450]
3. Tree ring/qs1 - acrRx

[Option ID = 14451]
4. Pollen and spore analysis/uzermur vd disiy frecstor

[Option ID = 14452]

Correct Answer :-

e Boreholes/fg - fésg (dR - lc21)
[Option ID = 14449]

34) A high amount of BOD (Biochemical Oxygen Demand) in a water body represents
A. Highly Polluted Water

B. Presence of a large amount of organic materials

C. Presence of good amount dissolved oxygen

D. Severely limited aquatic life

Choose the correct answer from the options given below:

s SIcorT 3 & 3l €1 (SiaRRIrIfora - sifa=fistol - Jifs1) 6 sifere sy yofdfa o=l 3 ¢
A. srcafires gefta st

B. wrdford ucrelf &t Srer gy b suf¥-erfer

C. R sifa=fisret &t srcdl gy & sufFerfer

D. srcaferes Mifdra siclir Sfiaor

il f3u s1e fraseul 3 A A IR BI Il BRI ©

[Question ID = 3614][Question Description = S2_qSNz_PG_GP2_Q39]
1. A, B, Cand D only/A, B, C 3z D

[Option ID = 14453]
2. B, Cand D only/@aa B, C siiz D

[Option ID = 14454]
3. A, Cand D only/@ae A, C 3z D

[Option ID = 14455]
4. A, Band D only/daa A, B aie D

[Option ID = 14456]

Correct Answer :-

e A B,CandDonly/A, B, C3iz D
[Option ID = 14453]

35) Which one of the following is a component of a Sewage Treatment Plant (STP)?
forgotferfR3aa 3 3 Dol U FeTsicl - foreuvt - FRiq (Ta & i) @1 v aew 3 ?

[Question ID = 3615][Question Description = S2_qSNz_PG_GP2_Q40]
1. UV source/?, dl. 3



[Option ID = 14457]
2. lon exchanger/sirIor vaicisiz

[Option ID = 14458]
3. Grit chamber/aci®ur - yors

[Option ID = 14459]
4. Cyclone/3msdrcitet

[Option ID = 14460]

Correct Answer :-
e UV source/z, dt. 3a

[Option ID = 14457]

36) According to the NEP- 2020, a Master's Programme may be of:
A. one-year duration

B. two-year duration

C. three-year duration

D. four-year duration

E. five-year duration

Choose the correct answer from the options given below:

wal. 5. Ul - 2020 & 3[GRIR, IAMADIIR UIGRIDI 3l ADI 3 &
A. v ad & smafr a1

B. <1 o bl sraf?r @1

C. ot adf <t sraf?r a1

D. ar ad i srafer o1

E. ufa ad & smaf?r a1

il feu sru faredl 3 A A8 IR D1 WRIel B :

[Question ID = 3616][Question Description = S2_qSNz_PG_GP2_Q41]
1. A, B and E only/d>act A, B siiz E

[Option ID = 14461]
2. A, B and C only/d@aer A, B iz C

[Option ID = 14462]
3. B, Cand E only/@aa B, C siz E

[Option ID = 14463]
4. Band D only/a@ac B siz D

[Option ID = 14464]

Correct Answer :-
e A, BandE only/@ae A, B3R E

[Option ID = 14461]

37) According to NEP-2020, the Higher Education Commission of India (HECI) will be set up:

A. to replace the UGC for maintaining quality and standard in higher education institutions

B. as an umbrella institution to look into regulation accreditation, funding and academic standard
C. as aregulatory authority to maintain quality and standard

D. to maintain academic standard of higher education institutions

Choose the correct answer from the options given below:

wal. 3. Ul. 2020 @ S6RIR, $IRA I 3 {91811 IRIST Fenfire fp= Simen :

A. 350 o1 3ca dieifdres Awesil 3 SUIadl vd ¥R Follt 3ol D ferw yfer-emast
B. faformtel, Yrariol, forf2rrer 3iiz Sigifres Faz &l Sxasiret 3q Oqm Az D »U i
C. v fAfoRIEI® Il D WU I VI Ud IR Jollu 3ol D fere

D. 3ca digifdres Azeamsii @ 9igifdres Ia= &l dolle Rdal @ fae

it fou s1e frpeul 9 A I IR DI TI6l HIfSIE ¢



[Question ID = 3617][Question Description = S2_qSNz_PG_GP2_Q42]
1. Aand B only/dact A siiz B

[Option ID = 14465]
2. B, C and D only/dae B, C aie D

[Option ID = 14466]
3. A, Cand D only/daet A, C iz D

[Option ID = 14467]
4. A, B, CandD/A, B, C sz D

[Option ID = 14468]
Correct Answer :-
e A and B only/@act A siiz B

[Option ID = 14465]

38) Match List | with List Il

List | List Il

Regulatory institutions as per NEP-2020  |Responsibilities

A. NHERC |. Academic standards
B. NAC Il. Accreditation

C. HEGC Ill. Regulation

D. GEC IV. Financing

Choose the correct answer from the options given below:

et -l oot 3 -1l A Fgafera HifSre :

oxet -1 ot -l

(ot 5. Ul. & IGRIR fAformca® Jireri) (c1Rr)

A. goLuaLs.3R.AL |. oteifdrd - IR
B. wor.udl Il. gcarmer

C. vassii. 11l. farformerct

D. sft.s.2ft IV. forférier

il 3w o1 el 3 A At IR gfom :

[Question ID = 3618][Question Description = S2_qSNz_PG_GP2_Q43]
1. A-UILB-I,C-1,D-1IV

[Option ID = 14469]
2. A-Il,B-1I,C-1V,D- |

[Option ID = 14470]
3. A-1L,B-1I,C-1V,D-I

[Option ID = 14471]
4. A-IV,B-1I,C-1II,D-1

[Option ID = 14472]
Correct Answer :-
e A-IILB-Il,C-1,D-1IV

[Option ID = 14469]

39) According to NEP-2020, National Research Foundation (NRF) may be established to
wol.s.Ul. 2020 @ 3R, A 31Io¢iol YferesTol (Tol.31R.ut.) Feftrd fop=m i Aoar 3 @

[Question ID = 3619][Question Description = S2_qSNz_PG_GP2_Q44]
1. Promote doctoral/post-doctoral research/Siac3c 3iiR dike sfacc ot @ YieAsol 3G

[Option ID = 14473]
2. Promote fundamental scientific research/smemagI dsifore olier @I giemfad ol

[Option ID = 14474]
3. Enable universities to establish research laboratories/feafderncrii ot oiter - YRieToncali bl FeIdoel @ Ao Follol 3

[Option ID = 14475]
4. Enable a culture of research to permeate through universities/faeafdemcril 3t ofter Jmpier B wIrd Blot B 018 o8 ALWT Tolloll

[Option ID = 14476]
Correct Answer :-
® Promote doctoral/post-doctoral research/sidac3c 3iiR Ul Sfac3c olitl D YAzl 3

[Option ID = 14473]

40) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R



Assertion A: Higher education in India has limited access particularly in socio-economically disadvantaged areas
Reason R: The research and innovation investment in India is only 0.69% of GDP

In light of the above statements, choose the most appropriate answer from the options given below

ofl 3l Berel fRu st 3@ uap sifdraperst (Assertion A) @ a3 iz ¢RI 3@ PRUT (Reason R) & wu 3 :
aifdrperet (A) © ra 3 I<a - g & Hfda uga 3 fuwm: aREnie - snl¥fe dkEa giql #

BRI (R) : s 3 ofter 3ii? olararR forder Awe Mg 3curg (Sh3lul.) o1 dac 0.69% &

SWRITD Doil B HIClD 3, ofid e fiwcul 3 A Ad 3= &1 Tt Hifste ©

[Question ID = 3620][Question Description = S2_qSNz_PG_GP2_Q45]
1. Both A and R are correct and R is the correct explanation of A/(A) 3iiz (R) ciail 3t 3 3l (R), (A) &t 3 wmen &

[Option ID = 14477]

2. Both A and R are correct but R is NOT the correct explanation of A/(A) siz (R) cleil 2l & u3oq (R), (A) &t Al = oidt &
[Option ID = 14478]

3. Ais correct but R is not correct/(A) 3@t @ uw3sq (R) &t oidt

[Option ID = 14479]
4. Ais not correct but R is correct/(A) 3@t o8t 8 udog (R) &t 3

[Option ID = 14480]

Correct Answer :-
e Both A and R are correct and R is the correct explanation of A/(A) sfiz (R) gleil 3@t 8 3k (R), (A) 6t 3@ e
[Option ID = 14477]

Topic:- GP_20NOV_C_SH1

1)

Read the given passage and answer the questions that follow

Early feminist theory had emphasised the commonalities of women's oppression, neglecting profound differences between
women in terms of class, age, religion, race and nation. As its exclusionary nature became evident, the collective 'we' of
feminism was called into question. The inadequacies of feminist theorising that conflated the condition of white, middle
class women with the condition of all women were highlighted in North America by black and Latin feminists, and in Britain
by black and Asian feminists. Such critiques evoked the concepts of 'inter-locking identities' and inter-locking oppressions'.
Related and more radical analyses came from feminist scholars in the Third world, where quite different agendas were
called for. These critiques heightened the irrelevance of western feminism's analytical frameworks to the lives of most
women around the world and attempted to reposition feminist debate within broader social, economic and cultural
contexts of analysis advocated by scholars such as Janus. Such critiques spoke from a post-colonial position, in which the
self-assumed authority of western feminists to speak about or indeed for others was disputed and decentered. Influential
accounts of the tendencies of masculinist imperialist ideological formation to construct a ‘'monolithic Third world' woman’,
discursively constituted as the universal victim of Third world patriarchy, challenged feminists to “unlearn” their privilege
and to deconstruct their own authority as intellectuals. These positions appeared to question the legitimacy of outside
intervention of any kind, whether intellectual or political. Although subsequently attempted by the Third world scholars
anxious to move beyond standpoints that threatened to mark all feminist politics as either inauthentic or unnecessary,
they were enduringly influential in highlighting the questions identity and authority in feminist studies.
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The early feminist theory ignored among women, the issue of
yrRitte ordlag & Rigia 3 afdcnsii & fowafelRaa 3 A v #E DI seRere @2 &ar sk ?

[Question ID = 3621][Question Description = S2_qSNz_PG_GP2_Q46]
1. Enduring commonalities/3wd Am@meran
[Option ID = 14481]
2. Significant differences/asrayuf ficorart
[Option ID = 14482]
3. Inclusive factors/amoft dR®

[Option ID = 14483]
4. Oppressive elements/gaerRl dra

[Option ID = 14484]

Correct Answer :-
® Enduring commonalities/Aad JeireIAns

[Option ID = 14481]

2)

Read the given passage and answer the questions that follow

Early feminist theory had emphasised the commonalities of women's oppression, neglecting profound differences between
women in terms of class, age, religion, race and nation. As its exclusionary nature became evident, the collective 'we' of
feminism was called into question. The inadequacies of feminist theorising that conflated the condition of white, middle
class women with the condition of all women were highlighted in North America by black and Latin feminists, and in Britain
by black and Asian feminists. Such critiques evoked the concepts of 'inter-locking identities' and inter-locking oppressions'.
Related and more radical analyses came from feminist scholars in the Third world, where quite different agendas were
called for. These critiques heightened the irrelevance of western feminism's analytical frameworks to the lives of most
women around the world and attempted to reposition feminist debate within broader social, economic and cultural
contexts of analysis advocated by scholars such as Janus. Such critiques spoke from a post-colonial position, in which the
self-assumed authority of western feminists to speak about or indeed for others was disputed and decentered. Influential
accounts of the tendencies of masculinist imperialist ideological formation to construct a 'monolithic Third world' woman’,
discursively constituted as the universal victim of Third world patriarchy, challenged feminists to "unlearn” their privilege
and to deconstruct their own authority as intellectuals. These positions appeared to question the legitimacy of outside
intervention of any kind, whether intellectual or political. Although subsequently attempted by the Third world scholars
anxious to move beyond standpoints that threatened to mark all feminist politics as either inauthentic or unnecessary,
they were enduringly influential in highlighting the questions identity and authority in feminist studies.
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Initially, the feminist theory veered around the problems of

3R & oidtardt Rigia forotferRaa 3 A fpar wer=n @ 3¢ BIS gyt a1 e ?



[Question ID = 3622][Question Description = S2_qSNz_PG_GP2_Q47]
1. Feminists around the world/fde«a #3 @ omRlarct

[Option ID = 14485]

2. North-American middle class white women /33t 3m@if¥cr @ ezt aof 6t «da aAfdeme
[Option ID = 14486]

3. Blacks and Latinos/ 3 siiz ciicfioft afderret

[Option ID = 14487]
4. ldentified women groups in different places/fdor - faroor el w2 fifea afder A

[Option ID = 14488]

Correct Answer :-
® Feminists around the world/frea oz @& amRtarct

[Option ID = 14485]

3)

Read the given passage and answer the questions that follow

Early feminist theory had emphasised the commonalities of women's oppression, neglecting profound differences between
women in terms of class, age, religion, race and nation. As its exclusionary nature became evident, the collective 'we' of
feminism was called into question. The inadequacies of feminist theorising that conflated the condition of white, middle
class women with the condition of all women were highlighted in North America by black and Latin feminists, and in Britain
by black and Asian feminists. Such critiques evoked the concepts of 'inter-locking identities' and inter-locking oppressions’.
Related and more radical analyses came from feminist scholars in the Third world, where quite different agendas were
called for. These critiques heightened the irrelevance of western feminism's analytical frameworks to the lives of most
women around the world and attempted to reposition feminist debate within broader social, economic and cultural
contexts of analysis advocated by scholars such as Janus. Such critiques spoke from a post-colonial position, in which the
self-assumed authority of western feminists to speak about or indeed for others was disputed and decentered. Influential
accounts of the tendencies of masculinist imperialist ideological formation to construct a ‘'monolithic Third world' woman’,
discursively constituted as the universal victim of Third world patriarchy, challenged feminists to "unlearn” their privilege
and to deconstruct their own authority as intellectuals. These positions appeared to question the legitimacy of outside
intervention of any kind, whether intellectual or political. Although subsequently attempted by the Third world scholars
anxious to move beyond standpoints that threatened to mark all feminist politics as either inauthentic or unnecessary,
they were enduringly influential in highlighting the questions identity and authority in feminist studies.
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The analytical frameworks of western feminists were critiqued by Third world scholars as:

U oIRiaIfRil @ fepdsuvicae Gidl & Jefisn dierl gforn @ fasmell orr bt u 3 & o ?

[Question ID = 3623][Question Description = S2_qSNz_PG_GP2_Q48]
1. they had different societal agendas/fésot - féoor et el wrfadr

[Option ID = 14489]
2. radical and irrelevant/siferarct siiz gRifdrs »u 9



[Option ID = 14490]
3. they had to be repositioned in different contexts/fafdreor et 3t yor:zemuer ool & for@

[Option ID = 14491]
4. they had to fit in a discursive discourse/fddaefier Yader @ de=r

[Option ID = 14492]

Correct Answer :-
e they had different societal agendas/fdreor - firoor m9ieT Jdeft BrRia
[Option ID = 14489]

4)

Read the given passage and answer the questions that follow

Early feminist theory had emphasised the commonalities of women's oppression, neglecting profound differences between
women in terms of class, age, religion, race and nation. As its exclusionary nature became evident, the collective 'we' of
feminism was called into question. The inadequacies of feminist theorising that conflated the condition of white, middle
class women with the condition of all women were highlighted in North America by black and Latin feminists, and in Britain
by black and Asian feminists. Such critiques evoked the concepts of 'inter-locking identities' and inter-locking oppressions'.
Related and more radical analyses came from feminist scholars in the Third world, where quite different agendas were
called for. These critiques heightened the irrelevance of western feminism's analytical frameworks to the lives of most
women around the world and attempted to reposition feminist debate within broader social, economic and cultural
contexts of analysis advocated by scholars such as Janus. Such critiques spoke from a post-colonial position, in which the
self-assumed authority of western feminists to speak about or indeed for others was disputed and decentered. Influential
accounts of the tendencies of masculinist imperialist ideological formation to construct a ‘'monolithic Third world' woman’,
discursively constituted as the universal victim of Third world patriarchy, challenged feminists to “unlearn” their privilege
and to deconstruct their own authority as intellectuals. These positions appeared to question the legitimacy of outside
intervention of any kind, whether intellectual or political. Although subsequently attempted by the Third world scholars
anxious to move beyond standpoints that threatened to mark all feminist politics as either inauthentic or unnecessary,
they were enduringly influential in highlighting the questions identity and authority in feminist studies.
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Post-colonial, western feminists were asked to

IR - situforafdre urtirea ordtarf A a=ir sl srRIm ?

[Question ID = 3624][Question Description = S2_qSNz_PG_GP2_Q49]
1. Free themselves from masculinist ideologies/gauarct Rigidl 3t Fa=i &I Feb Dol D e

[Option ID = 14493]
2. Disengage themselves from the idea of Third world woman'./za @1 dizt gform &t aifdemait 3 sicer B2l D fere

[Option ID = 14494]
3. Challenge the Third world patriarchy/fizmt gforr &t ficRraraaar ot goildt ot @ e

[Option ID = 14495]
4. Deconstruct their status as intellectuals/gfgsfidt @ u 3t ameft Reifer @1 oM B0t D ferw

[Option ID = 14496]

Correct Answer :-



e Free themselves from masculinist ideologies/yauarct RBrgidl A ¥®=i Pl b Dol D o

[Option ID = 14493]

5)

Read the given passage and answer the questions that follow

Early feminist theory had emphasised the commonalities of women's oppression, neglecting profound differences between
women in terms of class, age, religion, race and nation. As its exclusionary nature became evident, the collective ‘we’ of
feminism was called into question. The inadequacies of feminist theorising that conflated the condition of white, middle
class women with the condition of all women were highlighted in North America by black and Latin feminists, and in Britain
by black and Asian feminists. Such critiques evoked the concepts of 'inter-locking identities' and inter-locking oppressions'.
Related and more radical analyses came from feminist scholars in the Third world, where quite different agendas were
called for. These critiques heightened the irrelevance of western feminism's analytical frameworks to the lives of most
women around the world and attempted to reposition feminist debate within broader social, economic and cultural
contexts of analysis advocated by scholars such as Janus. Such critiques spoke from a post-colonial position, in which the
self-assumed authority of western feminists to speak about or indeed for others was disputed and decentered. Influential
accounts of the tendencies of masculinist imperialist ideological formation to construct a ‘'monolithic Third world’' woman’,
discursively constituted as the universal victim of Third world patriarchy, challenged feminists to "unlearn” their privilege
and to deconstruct their own authority as intellectuals. These positions appeared to question the legitimacy of outside
intervention of any kind, whether intellectual or political. Although subsequently attempted by the Third world scholars
anxious to move beyond standpoints that threatened to mark all feminist politics as either inauthentic or unnecessary,
they were enduringly influential in highlighting the questions identity and authority in feminist studies.
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The passage speaks of

s aren9r fopaY Adfta & ?

[Question ID = 3625][Question Description = S2_qSNz_PG_GP2_Q50]
1. ldentity issues in feminist studies/em3lard srerrell 3 usaror Al 35

[Option ID = 14497]
2. Authority of western feminist scholars/urgneI siRtact fRigrell o1 giftier

[Option ID = 14498]
3. Experience of Third world feminists/drt gform @ smtaifeRil @1 siopera

[Option ID = 14499]
4. ldeological constructs all over the world/y3t gforr 3t danfse forfdffer

[Option ID = 14500]

Correct Answer :-
® |dentity issues in feminist studies/sm3tarct sreermeil 3 usarer sl 75

[Option ID = 14497]

Topic:- ArabCulture_A

1) One of the following was among the six members of the Committee to appoint the third Caliph



il FacllwT @ <rRIel @ féru 31fdd 86 AR wdd # fosifeiRaa 3 A o e -

[Question ID = 3676][Question Description = S2_qSNz_PG_ARBC_QO01]
Talha ibn Ubayd Allah/weter seot 3dc sreets [Option ID = 14701]

. Sufyan ibn Abd Allah/3jftsret st sregareets [Option ID = 14702]

Abu Musa Abd Allah/arq, 311 siscsicens [Option ID = 14703]

. Al-Mughira ibn Shuba/aiet - apftar sear gJar [Option ID = 14704]

A WN =

Correct Answer :-

e Talha ibn Ubayd Allah/dctar seot 385 sieems [Option ID = 14701]

2) The Prophet was abused and driven away when he visited
UorgaR @I JNferIf &1 31 Siik Io3 91oM 311 oM S d Uugd A -

[Question ID = 3677][Question Description = S2_qSNz_PG_ARBC_Q02]
1. Hira/dkx [Option ID = 14705]

2. Taif/aréw [Option ID = 14706]

3. Busra/gzrr [Option ID = 14707]

4. Syria/~ff¥en [Option ID = 14708]

Correct Answer :-

e Hira/&kr [Option ID = 14705]

3) "... One of the two, when they were in the cave and he [i.e. Muhammad] said to his companion,”Do not grieve; indeed
Allah is with us.” The companion mentioned in the verse is:

".... CIoll 3 A UD, S d LI J A 3R Iosliol (FBIAG) 3ol AT A D8I, ' g A DU, 3Yccls FAR AT 3 ' Ufepl 3 IfccilRaa 3 (ar dfep=ai
3 for ars=ieht @1 o 3), ac 8 -

[Question ID = 3678][Question Description = S2_qSNz_PG_ARBC_QO03]

1. Umar/3a2 [Option ID = 14709]

2. Uthman/3zwmet [Option ID = 14710]

3. Ali/sreft [Option ID = 14711]

4. Abu Bakr/s3mg @@z [Option ID = 14712]

Correct Answer :-
e Umar/332 [Option ID = 14709]

4) The Prophet (SAW) termed Ahl al-Suffah as

Yotz (SAW) o 31ael - 31cl - JWWI Pl Dol

[Question ID = 3679][Question Description = S2_qSNz_PG_ARBC_Q04]
Ahl al-Hilyah/atget - aict - Beems [Option ID = 14713]

Awfad/sliwre [Option ID = 14714]

Ahl al-Zuhd/stset - 3w - ges [Option ID = 14715]

Ahl al-Wafa/siset - siet - awr [Option ID = 14716]

A WN -

Correct Answer :-
e Ahl al-Hilyah/siget - siet - 3eems [Option ID = 14713]

5) Al-Hudaybiyah is known at the present time as
31eT - goTeRI oI AlSIeT add 3 SIIell ST 3 :
[Question ID = 3680][Question Description = S2_qSNz_PG_ARBC_QO05]

1. Al-Shumaysi/se-oiidizdt [Option ID = 14717]

2. Rabigh/zif&er [Option ID = 14718]

3. Mahd al Thahab/#gs st sea [Option ID = 14719]
4. Yanbu/=meg [Option ID = 14720]

Correct Answer :-

® Al-Shumaysi/arer-oieift [Option ID = 14717]

6) The ruler of Egypt to whom the Prophet wrote a letter was
B &1 @: 9RIc ORI Uorer of uq ferr o -

[Question ID = 3681][Question Description = S2_qSNz_PG_ARBC_QO06]
1. Mugawqis/gwmiip [Option ID = 14721]

2. Heraclius/gmacRt [Option ID = 14722]

3. Chosroes/zgrI [Option ID = 14723]

4. Negus/forsmeft [Option ID = 14724]

Correct Answer :-
® Mugawqis/gmifcba [Option ID = 14721]



7) One of the celebrated poets and composers of "Seven Mu‘allagat” was

"HATd HaroormId” D ATYR DIl A A gD AT -
[Question ID = 3682][Question Description = S2_qSNz_PG_ARBC_Q07]

Imru’-al-Qays/s#%-3ict - & [Option ID = 14725]

. Ibn-Abi-Rabiah/seer - ardt - fdsm [Option ID = 14726]
. Al-Farazdagq/asret - w3siges [Option ID = 14727]

. Al-Akhtal/aret - sraaet [Option ID = 14728]

A w N =

Correct Answer :-
e |mru’-al-Qays/s#-31eI - D [Option ID = 14725]

8) The real founder of the Lakhmid Kingdom was
RAf3IG ISR DI ACchl HFATUD oT -
[Question ID = 3683][Question Description = S2_qSNz_PG_ARBC_Q08]

. Harith ibn-Hilliza/aR%1 oot ff¢eren [Option ID = 14729]

. Tarafah ibn-al-Abd/awwr seor sier sreq [Option ID = 14730]

. Mundhir/gjfsz [Option ID = 14731]

. Amr ibn-Adi ibn-Nasr /sy seot aif& seot oy [Option ID = 14732]

A W N -

Correct Answer :-
e Harith ibn-Hilliza/af31 seot f3f¢ersn [Option ID = 14729]

9) The rule of the Marwanid branch of the Umayyad dynasty began after the rule of

I3RS 91 Dl FAIfolc IMAT DI RI6l FoId dIG 9> 31T

[Question ID = 3684][Question Description = S2_qSNz_PG_ARBC_Q09]
1. Hisham/femr [Option ID = 14733]

2. Muawiyah Il/gamfem [Option ID = 14734]

3. Sulayman/Jjciemmet [Option ID = 14735]

4. Walid/acfig [Option ID = 14736]

Correct Answer :-
e Hisham/famr [Option ID = 14733]

10) Who among the following was NOT born in Madinah?

$otdl A Dot FSton 3 UcT ordl g3 o -

[Question ID = 3685][Question Description = S2_qSNz_PG_ARBC_Q10]
1. Sulayman ibn Abd al-Malik/Jjclsret seot 3feg 3ict aifera [Option ID = 14737]

2. Mu'awiya ibn Abi Sufyan/gsufeRn seot srdt JwRret [Option ID = 14738]

3. Abd al-Malik ibn Marwan/asrsg st @ifei seol aret [Option ID = 14739]

4. Umar ibn Abd al-Aziz/39 ssat 31e6 3iel 3iitst [Option ID = 14740]

Correct Answer :-
e Sulayman ibn Abd al-Malik/Jcieret seat 3tec 3iet @ifeiad [Option ID = 14737]

11) The Diyar Rab7'ah was established along the Tigris by

fe1ieaT (csten) @ A1 SR AfeRn &I Femuenr g3 of :

[Question ID = 3686][Question Description = S2_qSNz_PG_ARBC_Q11]
1. South Arabian tribes/sfgwft sra @il grr [Option ID = 14741]

2. East Arabian tribes/ydf sra @dict grr [Option ID = 14742]

3. West Arabian tribes/uf2wft srea adfier grar [Option ID = 14743]

4. North Arabian tribes/3a3! sra @diet gra [Option ID = 14744]

Correct Answer :-
e South Arabian tribes/sfémfl sra wdiel grr [Option ID = 14741]

12) Mu'awiya established naval industry (dar al-sina’ah), at

FIATRIT ol STt AFG ST8TSl DI PRGN (SR 31eT - Ryoiisis) Fenfura fopam -
[Question ID = 3687][Question Description = S2_qSNz_PG_ARBC_Q12]



Akka/smamrt [Option ID = 14745]

Cyprus/msyz1 [Option ID = 14746]
Rhodes/3isat [Option ID = 14747]
Arwad/srars [Option ID = 14748]

A W N -

Correct Answer :-
e Akka/smmr [Option ID = 14745]

13) The man accused of having changed the Khilafat al-nubiG'ah to a mulk was

a8 91 ORI U= Raciibd 31el Jg31 DI AIGMad d dcsicl Mol Pl ARIU Pl -
[Question ID = 3688][Question Description = S2_qSNz_PG_ARBC_Q13]

1. Abd al-Rahman ibn Mu'awiyah/seg siet 3aatret seot janfcrn [Option ID = 14749]
2. Hakam |/s®a | [Option ID = 14750]

3. Hajib al-Mansur/ssta sret #i3z [Option ID = 14751]

4. Mu'awiyah/gnfeRn [Option ID = 14752]

Correct Answer :-
® Abd al-Rahman ibn Mu'awiyah/ares st Jgaet seat gsufaen [Option ID = 14749]

14) One of the true statesmen of the banu-Umayyah was
o] IFIRAT D A< ATl A A v o -

[Question ID = 3689][Question Description = S2_qSNz_PG_ARBC_Q14]
Ibrahim/squf2a [Option ID = 14753]

Al-Walid 11/aict - acfig 11 [Option ID = 14754]

Yazid Il /=it 111 [Option ID = 14755]

Hisham/famr [Option ID = 14756]

A W N -

Correct Answer :-
o |brahim/sgifdsr [Option ID = 14753]

15) The Umayyad ruler who is mainly credited with arabicization of the state was
3L ARIP PRI AT D 3REIDUT DI I YA SIIeT 3 ©

[Question ID = 3690][Question Description = S2_qSNz_PG_ARBC_Q15]
Umar II/3a= 1l [Option ID = 14757]

Mu'awiya Il/znfe |1 [Option ID = 14758]

Abd-al-Malik/3reg - 3t - aiferas [Option ID = 14759]

Ibrahim /squfaar [Option ID = 14760]

A W N -

Correct Answer :-

e Umar Il/3a= Il [Option ID = 14757]
16) Baghdad's other name is:
SOIGIG DT G oIl 3 ©

[Question ID = 3691][Question Description = S2_qSNz_PG_ARBC_Q16]
1. Madinah al Salam/adlen 3iet - 3wt [Option ID = 14761]

2. Madinah al-Ilm/aclen 3ret - scat [Option ID = 14762]

3. Madinah Fazilah/aclon wifsten [Option ID = 14763]

4. Madinah al-Fazi/aidton siet - wisft [Option ID = 14764]

Correct Answer :-
e Madinah al Salam/#iclter aret - 2remer [Option ID = 14761]

17) Al-Kindi is known as
31c1 fbedl Y Sirell SIrdT 3 adi? -
[Question ID = 3692][Question Description = S2_qSNz_PG_ARBC_Q17]

Philosopher of the Arabs/sra @ crefferas [Option ID = 14765]
Geographer of the Arabs/srRa @ spilet fadiust [Option ID = 14766]
Botanist of the Arabs/3rd @1 derufiiondt [Option ID = 14767]
Mathematician of the Arabs/sra @1 siftrast [Option ID = 14768]

A wWw N =

Correct Answer :-

e Philosopher of the Arabs/sra @ csffsras [Option ID = 14765]
18) The father of Arabic Al-Chemi was

3Rl 31et - Dt PI SIotb o -

[Question ID = 3693][Question Description = S2_qSNz_PG_ARBC_Q18]



Umar Khayyam/3#2 d=ma [Option ID = 14769]

Abu Nuwas/3rq sfart [Option ID = 14770]

Jabir ibn Hayyan/snfe= seer 8<=met [Option ID = 14771]
Khalid ibn Yazeed/zmufers seat @il [Option ID = 14772]

A W N -

Correct Answer :-
e Umar Khayyam/3a=z Zeemat [Option ID = 14769]

19) The foundation stone of Baghdad was laid by
oIcI; aI forersT fopar :

[Question ID = 3694][Question Description = S2_qSNz_PG_ARBC_Q19]
Al-Mahdi/ser-aract [Option ID = 14773]

Al-Muktafi/ et - gept [Option ID = 14774]

Al-Mansur/aret - a3z [Option ID = 14775]

Al-Muqtadir/sict gaaidz [Option ID = 14776]

A W N -

Correct Answer :-
e Al-Mahdi/smr-aiset [Option ID = 14773]

20) The Caliph credited with new soap and glass factories in Baghdad and Samarra was
Hcilwl PRI eIcIs 3R ARRE 3 ATget 3R 99l @ oTe PRI 95 D0l DI I SIIdl 3 &
[Question ID = 3695][Question Description = S2_qSNz_PG_ARBC_Q20]

Al-Mamun/siet #idget [Option ID = 14777]

Harun al-Rashid/amset aret - afsis [Option ID = 14778]
Al-Amin/aret - spfier [Option ID = 14779]
Al-Mu'tasim/siet - gai3wr [Option ID = 14780]

A W N -

Correct Answer :-
e Al-Mamun /a3t sggot [Option ID = 14777]

21) The royal library of Cordova was started by
DIRCIAl B ISIDORI YGFADIcRI DI B3I Dl -

[Question ID = 3696][Question Description = S2_qSNz_PG_ARBC_Q21]
1. Muhammad |/gss1g | a1 [Option ID = 14781]

2. Al-Hakam/srcr aaa o [Option ID = 14782]

3. Abd al-Rahman/areg aiet - @3t of [Option ID = 14783]

4. Hajib al-Mansur/aifS 3tet #32 of [Option ID = 14784]

Correct Answer :-
® Muhammad |/3@sc | o [Option ID = 14781]

22) Ibn Khaldun lectured at Al-Azhar and was appointed Malekite Qazi of Cairo by
$ool Icgol of el - 319162 91 MY &1 ik d BRRI @ #ferd! wril forge e se :
[Question ID = 3697][Question Description = S2_qSNz_PG_ARBC_Q22]

Al-Nasir /3wt - sur grr [Option ID = 14785]

Al-Zahir Barquq/aiet - sufé2 a2 grrt [Option ID = 14786]

Abd al-Rahman Ill/3re5 - 3ret - 38t || grr [Option ID = 14787]
Muhammad |ll/7sass |1l grr [Option ID = 14788]

A W N -

Correct Answer :-
® Al-Nasir/aet - onf3r grr [Option ID = 14785]

23) Abu al-Qasim Al-Zahrawi was a/an
31§ 31T IR 3IcT AT AT TP ©
[Question ID = 3698][Question Description = S2_qSNz_PG_ARBC_Q23]

1. Andalusian surgeon/smeaeRit 2kt [Option ID = 14789]
2. African botanist/snbidi aereufeienacft [Option ID = 14790]
3. Ottoman General/shgwter seret [Option ID = 14791]

4. Safavid Architect/zmwd! argfdredt [Option ID = 14792]

Correct Answer :-
e Andalusian surgeon/smecit 3kt [Option ID = 14789]

24) Al-Kulliyat fi al-Tibb was authored by

3re1 gfeera fisire e @ crae A :
[Question ID = 3699][Question Description = S2_qSNz_PG_ARBC_Q24]



Ibn Rushd/sser 95 [Option ID = 14796]
Ibn Bajjah/sset arssiie [Option ID = 14793]
Ibn Sina/sser 2o [Option ID = 14794]

Ibn Tufayl/sear gier [Option ID = 14795]

A W N -

Correct Answer :-
e |bn Bajjah/seor arsene [Option ID = 14793]

25) Ibn Arabi, a great mystic, was born in Murcia and died in

gool 361, Ud HAslol HIEID DI Slodl FRT 3 gair o 3z Sorchl gy ¢ off :
[Question ID = 3700][Question Description = S2_qSNz_PG_ARBC_Q25]

1. Baghdad/@erers 3 [Option ID = 14797]

2. Al-Hashimiya/asret - sotfdrn [Option ID = 14798]
3. Damascus/gfdem [Option ID = 14799]

4. Cairo/@rRY [Option ID = 14800]

Correct Answer :-
e Baghdad/srers 3 [Option ID = 14797]

26) Saljugs dynasty lasted between
TSP ASIA9I BT IRIGIDICT T -

[Question ID = 3701][Question Description = S2_qSNz_PG_ARBC_Q26]
1. 1037 AD - 1194 AD/1037 $xdt - 1194 ¥t [Option ID = 14801]
2. 1025 AD - 1180 AD/1025 $x<t - 1180 gt [Option ID = 14802]
3. 1050 AD - 1190 AD/1050 st - 1190 st [Option ID = 14803]
4. 1105 AD - 1190 AD/1105 $=dt - 1190 st [Option ID = 14804]

Correct Answer :-
e 1037 AD - 1194 AD/1037 st - 1194 $x<ft [Option ID = 14801]

27) Poet Rudki belonged to the
el Dfd 531 @ 9mTet ®Ict 3

[Question ID = 3702][Question Description = S2_qSNz_PG_ARBC_Q27]
Fatimids/wiferft [Option ID = 14805]

Mamluks /##cg [Option ID = 14806]

Samanids/ el [Option ID = 14807]

Saljuqs/=ewEbt [Option ID = 14808]

A wWw N =

Correct Answer :-

e Fatimids/wifeefl [Option ID = 14805]

28) The Capital of Fatimid dynasty during the 985 AD
985 $. 3 wifcrll adpga oI Istenott off -

[Question ID = 3703][Question Description = S2_qSNz_PG_ARBC_Q28]
1. Mahdiya/astéan [Option ID = 14809]

2. Tripoli/fereft [Option ID = 14810]

3. Cairo/@ifgar [Option ID = 14811]

4. Damascus/gfdess [Option ID = 14812]

Correct Answer :-
e Mahdiya/asfezn [Option ID = 14809]

29) The Cyprus was conquered by the Mamluk Sultan

ABYA U= fIsrRI 6 MIge Jerdre SR yrd & o1 ?

[Question ID = 3704][Question Description = S2_qSNz_PG_ARBC_Q29]
1. Al-Nasir/aict - ouBr [Option ID = 14813]

2. Baybars/daz2t [Option ID = 14814]

3. Al-Zahir Sayf al Din/ar - Sz 3w 3t -dtor [Option ID = 14815]

4. Barsbay/srfare [Option ID = 14816]

Correct Answer :-

o Al-Nasir/aict - onfdz [Option ID = 14813]

30) The Hamadanids belonged to the tribe of
sacIoll fopa wdiar A AdfRra & ?

[Question ID = 3705][Question Description = S2_qSNz_PG_ARBC_Q30]



Banu Tamin/ag] aefler [Option ID = 14817]
Banu Taghlib/aq] aeifera [Option ID = 14818]
Banu Adi/aq] st [Option ID = 14819]

Banu Sad/aq] g [Option ID = 14820]

A W N -

Correct Answer :-
® Banu Tamin/sg] aefiar [Option ID = 14817]

31) The capital of Idrisids dynasty was
iRl Jrerdor &t Jrstermoft oft :

[Question ID = 3706][Question Description = S2_qSNz_PG_ARBC_Q31]
Fas/wra [Option ID = 14821]

Fustat/gzara [Option ID = 14822]

. Qatai/@as [Option ID = 14823]

. Qayrawan/@zaret [Option ID = 14824]

A W N -

Correct Answer :-

e Fas/wri [Option ID = 14821]

32) The Tulunid ruled between
dcjoll ASTAII DT IIRAGIDICT AT -

[Question ID = 3707][Question Description = S2_qSNz_PG_ARBC_Q32]
1. 860 AD - 902 AD/860 st 3t 902 ¥t ax [Option ID = 14825]
2. 868 AD - 905 AD/868 3t 31 905 st awm [Option ID = 14826]
3. 876 AD - 910 AD/876 ¥t 31 910 $xdt aw [Option ID = 14827]
4. 885 AD - 915 AD/885 $x<ft 31 915 $x<ft 7 [Option ID = 14828]

Correct Answer :-
® 860 AD - 902 AD/860 St 31 902 st aas [Option ID = 14825]

33) The Ayyubids era was
3Rl IASIA9I DI IRIGIPICT T -
[Question ID = 3708][Question Description = S2_qSNz_PG_ARBC_Q33]

1100 AD - 1190 AD/1100 st 3r 1190 St aw [Option ID = 14829]
1169 AD - 1252 AD/1169 st 31 1252 $xdt aw [Option ID = 14830]
1179 AD - 1260 AD/1179 st 3 1260 =t aw [Option ID = 14831]
1189 AD - 1270 AD/1189 st 31 1270 St aw [Option ID = 14832]

A W N -

Correct Answer :-

e 1100 AD - 1190 AD/1100 St 31 1190 st am [Option ID = 14829]

34) Independence from the Samanid empire was proclaimed by:
ARG ARYIS 3 AT TP Iddc) AU DI Jivvn fptol &bi off ?

[Question ID = 3709][Question Description = S2_qSNz_PG_ARBC_Q34]
1. Sabuktigin/Jgepsiier [Option ID = 14833]

2. Muhammad Ghaznavi/#g#i1s swerdt [Option ID = 14834]

3. Mehmood Ghaznavi/#@eg smferd! [Option ID = 14835]

4. Murad |/3R15 - gewr [Option ID = 14836]

Correct Answer :-

e Sabuktigin/Jgpetter [Option ID = 14833]

35) The capital of Aghlabi dynasty was
3RIcTdl IseT & Istenet eff -

[Question ID = 3710][Question Description = S2_qSNz_PG_ARBC_Q35]
1. Qayrawan/dzaret [Option ID = 14837]

2. Aleppo (Halb)/srermdl (aeq) [Option ID = 14838]

3. Cairo/mifdar [Option ID = 14839]

4. Tripoli/femicht [Option ID = 14840]

Correct Answer :-
e Qayrawan/@dzart [Option ID = 14837]

36) The great poet, sufi and religious scholar Shaikh Haji Bayram Wali is buried in the city of
Ftol ofd, bl 3z enfifd fagror 9 areft 94 acll @I SwolrRI RIT 9182 -
[Question ID = 3711][Question Description = S2_qSNz_PG_ARBC_Q36]



Ankara/siwar 3 [Option ID = 14841]
Istanbul/szdiget 3t [Option ID = 14842]
Konya/@®e=n 3 [Option ID = 14843]
Bursa/gz2m 3 [Option ID = 14844]

A W N -

Correct Answer :-
® Ankara/sim2r 3 [Option ID = 14841]

37) The Janissary Army (Yeni Cheri) was destroyed by Sultan Mahmut Il in the year

SIifor=131 Aol (Jofl A3) @I Jeedrol A || I oree fopa sRm ay -

[Question ID = 3712][Question Description = S2_qSNz_PG_ARBC_Q37]
1. 1826/1826 i [Option ID = 14845]
2. 1830/1830 3i [Option ID = 14846]
3. 1835/1835 ai [Option ID = 14847]
4. 1839/1839 4t [Option ID = 14848]

Correct Answer :-
e 1826/1826 4 [Option ID = 14845]

38) The Qizilbash Army was constituted by
fopforer aror sifda &bl a1 efi :
[Question ID = 3713][Question Description = S2_qSNz_PG_ARBC_Q38]

Shah Ismail/ems seemser @ grr [Option ID = 14849]
Shah Tahmasp/ e assmzu [Option ID = 14850]
Murad/aRis [Option ID = 14851]

Bayazid/smrstig [Option ID = 14852]

AW N -

Correct Answer :-
® Shah Ismail/9oms s3ase @ grr [Option ID = 14849]

39) Mulla Sadra thrived during the rule of
Jcell AGT $A IIRIGl B SIIol Bl - Bl -

[Question ID = 3714][Question Description = S2_qSNz_PG_ARBC_Q39]
The Safavids/awdl [Option ID = 14853]

The Ottomans/siglrer [Option ID = 14854]

The Mughals/3pret [Option ID = 14855]

The Fatimids/wifepft [Option ID = 14856]

A W N -

Correct Answer :-
e The Safavids/awdl [Option ID = 14853]

40) Necmettin Erbakan was associated with
SISIgElol GdIel Jdfera ot -
[Question ID = 3715][Question Description = S2_qSNz_PG_ARBC_Q40]

Nationa Peace Party/alomret it uret [Option ID = 14857]
National Justice Party/storeret sif¥cet urct [Option ID = 14858]
National Salvation Party/airetet Jrcdoret urdf [Option ID = 14859]
National Peoples Party/aomter diger urct [Option ID = 14860]

A W N -

Correct Answer :-

o Nationa Peace Party/agretet dit urdf [Option ID = 14857]

41) Bosnia was acquired by the Ottomans as a state in the year
SNEIHGT GRI TP IS D WU 3 dIoRI Uz deelr fdben srir ad -

[Question ID = 3716][Question Description = S2_qSNz_PG_ARBC_Q41]
1. 1456/1456 3 [Option ID = 14861]
2. 1462/1462 3 [Option ID = 14862]
3. 1465/1465 3 [Option ID = 14863]
4. 1468/1468 3 [Option ID = 14864]

Correct Answer :-

® 1456/1456 3 [Option ID = 14861]

42) Shah Ismail was defeated by the Ottoman Sultan Salim in the year
9IE STATSC DI 3IEIHGT Icedlol Aciid of BRI -

[Question ID = 3717][Question Description = S2_qSNz_PG_ARBC_Q42]



1514 AD/1514 $xdt 3 [Option ID = 14865]
1517 AD/1517 St 3 [Option ID = 14866]
1521 AD/1521 $xdi 3 [Option ID = 14867]
1519 AD/1519 st 3 [Option ID = 14868]

A W N -

Correct Answer :-
e 1514 AD/1514 i 3 [Option ID = 14865]

43) Arabic word "Ma'bar” (crossing) was being used by Arab traders and sailers for the:
3Rd IMUrl 3R olifdd 3Rl 9rsc TG BT IURNIET fbad fo1u @ & ?
[Question ID = 3718][Question Description = S2_qSNz_PG_ARBC_Q43]

1. Coromandel coast of Southern India/afémr sz @1 @REEse ac [Option ID = 14869]
2. Coastal areas of Bangal/dsrretr @1 dacadf serer [Option 1D = 14870]

3. Coastal areas of Bahrain/a@3sr @1 deart seept [Option ID = 14871]

4. Coastal areas of Sind/Rie @1 acadf semr [Option ID = 14872]

Correct Answer :-
e Coromandel coast of Southern India/gafér sia o1 ®RBise ac [Option ID = 14869]

44) Sind was conquered by Muhammad bin Qasim during the reign of the Umayyid caliph:
fopa1 3ol zachiwT & omRTeIdIal 3 Heads foel PIRMEI of Rier @i Sitar ar ?
[Question ID = 3719][Question Description = S2_qSNz_PG_ARBC_Q44]

Yazid bin Muawiya/=rit fet sjsufden [Option ID = 14873]

Abd al-Malik bin Marwan/steget afer ot #izarer [Option ID = 14874]
Walid bin Abd al-Malik/aefts fder sreget aifers [Option ID = 14875]
Umar bin Abd al-Aziz/3= 3ot seget sl [Option ID = 14876]

A w N =

Correct Answer :-
e Yazid bin Muawiya/zsils et gjsufeen [Option ID = 14873]

45) Madrasa-i-Nasiri, an educational institution to look after the needs of the people was built during the reign of:
cipll bl Af3rd sra9ABdIsIl Bl Y1 Dol @ 1w dAc AT - € ouf3rst @I forafvr fberd omsimrer # gan?

[Question ID = 3720][Question Description = S2_qSNz_PG_ARBC_Q45]
Mohammad bin Qasim/gga1s fdet wi¥er [Option ID = 14877]

Iltutmish/seqgafier [Option ID = 14878]

Alauddin Khalji/sremséler Raersit [Option 1D = 14879]

Sikander Lodi/Bae2 it [Option ID = 14880]

AW N =

Correct Answer :-
® Mohammad bin Qasim/3#gsrc et wifwr [Option ID = 14877]

46) Ibn Battuta was sent on a diplomatic mission to China by the Indian ruler
gool aqdl DI [ HRARI IRT® of g Folld? <ot AsiT o ?

[Question ID = 3721][Question Description = S2_qSNz_PG_ARBC_Q46]
1. Iltutmish/scqafer [Option ID = 14881]

2. Balban/scaer [Option ID = 14882]

3. Muhammad Tughluq/#ssc gerets [Option ID = 14883]

4. Bahlul Lodi/wciicr it [Option ID = 14884]

Correct Answer :-
o [ltutmish/scgafder [Option ID = 14881]

47) Portuguese admiral Vasco da Gama, guided by the Arab pilot Ahmad bin Majid, appeared before Calicut in the year
1498 during
3Rd olifd 318316 o1 aIfSic @ F1sleI A yddstiell arl 31 s @& 1498 3 wrclioe ugdel @ WIRI URA I fprDI 91RT6T ar ?

[Question ID = 3722][Question Description = S2_qSNz_PG_ARBC_Q47]
Mamluks' rule/awiee dor [Option ID = 14885]

Tughlugs' rule/qereres dor [Option ID = 14886]

Lodis' rule/eict dor [Option ID = 14887]

Mughas' rule/geret dor [Option ID = 14888]

A W N -

Correct Answer :-
o Mamluks' rule/smree® d9r [Option ID = 14885]

48) "Ibadat Khana", the house of worship, was built by Akbar in:

PR o "sdIGare oI forariur o5 Ferrer 3 o e ?

[Question ID = 3723][Question Description = S2_qSNz_PG_ARBC_Q48]



1. Sirhind/3rféss [Option ID = 14889]

2. Fatehpur Sikri/wdsygz RBepst [Option ID = 14890]
3. Delhi/feeeft [Option ID = 14891]

4. Lahore/em@lz [Option ID = 14892]

Correct Answer :-

e Sirhind/3rféss [Option ID = 14889]

49) The origin of Mughal dynasty was
JITeT IASIA9I DI 3G Dal A g3 ?

[Question ID = 3724][Question Description = S2_qSNz_PG_ARBC_Q49]
1. Arab/ara [Option ID = 14893]

2. Turkish/ge [Option ID = 14894]

3. Afghan/smweret [Option ID = 14895]

4. Berbar/adz [Option ID = 14896]

Correct Answer :-
® Arab/sra [Option ID = 14893]

50) The chief architect of the Taj Mahal was
dArsiae oI g3 drRrgforctl o &

[Question ID = 3725][Question Description = S2_qSNz_PG_ARBC_Q50]
Ustad Isa/3%ars 2 [Option ID = 14897]

Ustad Muhandis/3sam géfea [Option ID = 14898]

Ustad Bismillah/3are faf3scen [Option ID = 14899]

Ustad Yusuf/3¥ame g [Option ID = 14900]

A W N -

Correct Answer :-
e Ustad Isa/3ars sam [Option ID = 14897]

51) The committee constituted to compile the Quran during Abu Bakr's caliphate was headed by
3 B2 BT O IRIGIDICT I BRcl B Adbelol @ fere s1fda afdifer o1 sigea fovan e :

[Question ID = 3726][Question Description = S2_qSNz_PG_ARBC_Q51]
1. Umar bin Khattab/3#= férer zrea [Option ID = 14901]

2. Umm-i-Warqgah/3#h - @3t [Option ID = 14902]

3. Uthman bin Affan/33me1 ot stuwror [Option ID = 14903]

4. Zaid bin Thabit/3lg fet enfee [Option ID = 14904]

Correct Answer :-
e Umar bin Khattab /3= fder 2aama [Option ID = 14901]

52) Oldest complete translation of Quran is in
@16l DI A YRIell AHYYi srefarc fepat simar 31 3 :
[Question ID = 3727][Question Description = S2_qSNz_PG_ARBC_Q52]

Hebrew/sqrsft [Option ID = 14905]
Persian/wrzft [Option ID = 14906]
Turkish/gat [Option ID = 14907]
Greek/3ortroft [Option ID = 14908]

A wWw N -

Correct Answer :-
® Hebrew/sgmwll [Option ID = 14905]

53) 'Tafsir al-Manar' was authored by
"aw Hi? 31cT AIR'D RAaD 3 :
[Question ID = 3728][Question Description = S2_qSNz_PG_ARBC_Q53]

Muhammad bin Abdul Wahab/#js#915 et seget asma [Option ID = 14909]
Jamaluddin Afghani/seicgler smwemoft [Option ID = 14910]

Hasan Al-Banna/@2mt 3ret - &oont [Option ID = 14911]

Rashid Rida/zefls f¥sm [Option ID = 14912]

A W N -

Correct Answer :-
® Muhammad bin Abdul Wahab/#g#1s fdet sreget asa [Option ID = 14909]

54) Maududi's Tafhim al Quran was authored between
ISl GRT AWl 3ieT BRIol bl Faor &F o eft
[Question ID = 3729][Question Description = S2_qSNz_PG_ARBC_Q54]



1922 - 1927 AD/1922 - 1927 sxdt @ «fta [Option ID = 14913]
1925 - 1932 AD/1925 - 1932 st @ offa [Option ID = 14914]
1942 - 1972 AD/1942 - 1972 st @ ot [Option ID = 14915]
1973 - 1979 AD/1973 - 1979 sxdt & «ffa [Option ID = 14916]

A W N -

Correct Answer :-
® 1922 - 1927 AD/1922 - 1927 szt @ dfa [Option ID = 14913]

55) "Sunan Ibn Majah" was compiled by
"Holol $oo1 AISI' DI AHd>clol AT RIT AT &

[Question ID = 3730][Question Description = S2_qSNz_PG_ARBC_Q55]
Sulaiman bin Ashath/3jclaet f&et sRic @ grr [Option ID = 14917]

Muhammad bin Yazid/#s#ic o1 aefic @ grr [Option ID = 14918]

Muhammad bin Ismail/gg#1c et samser @ grr [Option ID = 14919]

Muhammad bin Isa/#s#6 et $2 @ grr [Option ID = 14920]

A W N -

Correct Answer :-
e Sulaiman bin Ashath/3jciemet it 3R @ grI [Option ID = 14917]

56) One of the primary source books of Maliki figh is:

‘anferl fbas’ @I el 9fid Y Soldl A Td 3 ©
[Question ID = 3731][Question Description = S2_qSNz_PG_ARBC_Q56]

Kitab al-Asl/fesarget sret [Option ID = 14921]
Al-Risala/aret - Baren [Option ID = 14922]
Mudawwana/d#jgeaen [Option ID = 14923]
Musawwa/gRrear [Option ID = 14924]

A W N -

Correct Answer :-
e Kitab al-Asl/fparget sret [Option ID = 14921]

57) The first extant book on "Usul al-Figh" (Principles of jurisprudence) ‘al-Risala’ was authored by

‘3¢t 3rct fhas’ bl uschl FHislc fbama "sreif¥iren &l e’ f[bad> grr &f o @
[Question ID = 3732][Question Description = S2_qSNz_PG_ARBC_Q57]

Muhammad bin Idrees/#s#ac et se3ia [Option ID = 14925]
Rabi bin Sulaiman/dt et Jewet [Option ID = 14926]
Ibrahim bin Ahmad/sqifée féet sw@aig [Option ID = 14927]
Imam al-Harmain/ssmt siet a2diet [Option ID = 14928]

A WN -

Correct Answer :-
e Muhammad bin Idrees/#js#i1g firet sgdiar [Option ID = 14925]

58) The Bektashi Sufi order was abolished by

gapciiofll bl URURT 5> GRI AATH DI 315 ©
[Question ID = 3733][Question Description = S2_qSNz_PG_ARBC_Q58]

1. Sultan Abd al-Aziz/Jedrer srsget st [Option ID = 14929]
2. Sultan Abd al-Mejid/ el ssge disilc [Option ID = 14930]
3. Sultan Mahmud II/yeame sisags || [Option ID = 14931]

4. Sultan Murat V/3jearet #R16 V [Option ID = 14932]

Correct Answer :-
e Sultan Abd al-Aziz/ et steget sifist [Option ID = 14929]

59) 'Awarif al-Ma'arif' was authored by the founder of
ranfeger 3w fp1 BT uRuRr & Aremud & gRI ferxdl orf ¢
[Question ID = 3734][Question Description = S2_qSNz_PG_ARBC_Q59]

Suhrawardi order/3fiszafdar [Option ID = 14933]
Chishtiyya order/fifsarn [Option ID = 14934]
Nagshbandi order/smporsdt [Option ID = 14935]
Qadiri order/@rs3t [Option ID = 14936]

A wWwN -

Correct Answer :-
e Suhrawardi order/3iigzafdzn [Option ID = 14933]



60) The oldest Arabic compendium of medicine 'Firdaws al-Hikmah' is the contribution of
Rifépe1 fArsiTel @1 JeR1 YRIeH 3Rl Fdctel T 31eT - Bpan’ vl APKre 3 :

[Question ID = 3735][Question Description = S2_qSNz_PG_ARBC_Q60]
. Al-Razi/sier-3sft [Option ID = 14937]

. Al-Majusi/sre - sl [Option ID = 14938]

. Al-Tabari/sfet - aast [Option ID = 14939]

. Al-Kindi/sret - fasct [Option ID = 14940]

A wWwN =

Correct Answer :-

® Al-Razi/smer-2ft [Option ID = 14937]

61) 'Tarikh al-Rasul wa-al Muluk’ was authored by

Al et BIYC d - el PIB pAD R ferdl o1 3 :

[Question ID = 3736][Question Description = S2_qSNz_PG_ARBC_Q61]

. Muhammad ibn Muslim al-Dinawari/#jssrc fier et sret fomast [Option ID = 14941]

. Hamzah al-Isfahani/asst siet sewaloft [Option ID = 14942]

. Ibn al-Mugaffah/sset 3iet - gpwst [Option ID = 14943]

. Abu Jafar Muhammad ibn Jarir al-Tabari/srq Smw? #a#916 seol SRR 3kt - a3t [Option ID = 14944]

A w N =

Correct Answer :-

e Muhammad ibn Muslim al-Dinawari/gesg feror gi¥ciat sret fomast [Option ID = 14941]
62) Abd al-Rahman ibn Khaldun was born in the year

31eg¥6dATel $o01 Fcgol DI Slod b ad g3 ?

[Question ID = 3737][Question Description = S2_qSNz_PG_ARBC_Q62]
1. 1321 AD/1321 <. [Option ID = 14945]
2. 1332 AD/1332 €. [Option ID = 14946]
3. 1406 AD/1406 $. [Option ID = 14947]
4. 1432 AD/1432 § [Option ID = 14948]

Correct Answer :-
e 1321 AD/1321 $ [Option ID = 14945]

63) Amongst the following persons, who held the doctrine of "al-Manzila bayn al-Manzilatayn”

forgstfeiRae 3t A fboId> GRI "31cT - FIRSTC ol 3icT HolfSrerdol @I Yferurcel fasm sRir
[Question ID = 3738][Question Description = S2_qSNz_PG_ARBC_Q63]

. Ghaylan al-Dimashqi/3tetret stet f&arecht [Option ID = 14949]

. Wasil b. Ata/aif3ret faror sier [Option ID = 14950]

. Hasan al Basri/a3mt aret @3t [Option ID = 14951]

. Abu'l Hasan al-Ashari/siget a3t 3iet siomst [Option ID = 14952]

A w N =

Correct Answer :-
e Ghaylan al-Dimashqi/sictret siet fgaedht [Option ID = 14949]

64) Imam Ghazali's critique of philosophers is known as
31 3rstictl gRI ferlRaa crofforast &bt sieiiare Fdeh fdpdra @Y fop oier A Sirelr SIrdar 3 :

[Question ID = 3739][Question Description = S2_qSNz_PG_ARBC_Q64]
. Tanqid al-Falasifah/deicblc 3ret - wenRiws [Option ID = 14953]

. Tardid al-Falasifah/azfeg siet - wenf3ws [Option ID = 14954]

. Tahafut al-Falasifah/asmge siet - wenRws [Option ID = 14955]

. Tadhmin al-Falasifah/aswfier siet - wenfmws [Option ID = 14956]

A WN =

Correct Answer :-
e Tangqid al-Falasifah/dercbig sret - wenf3ws [Option ID = 14953]

65) Who among the following Sufi saints is known as 'Data Ganj Bakhsh
forgotferRaa bl vidl 3 A fopod 'gramist aaer’ d> oiid A Siiell SIIAT 3 :

[Question ID = 3740][Question Description = S2_qSNz_PG_ARBC_Q65]
. Abu Ishaq Shami/srg s3erm et [Option ID = 14957]

. Al-Hujwiri/3iet - gordist [Option ID = 14958]

. Nizamuddin Awliya/femimeggler siifern [Option ID = 14959]

. Shaykh Bahauddin Zakariyya/9ra ges&ter sioifn [Option ID = 14960]

A W N -

Correct Answer :-
® Abu Ishaq Shami/arg ssm ewit [Option ID = 14957]

66) Saddam Husain the former President of Iraq was associated with



s @ yd cufil Hewt giel Rpwrat wefer & ?

[Question ID = 3741][Question Description = S2_qSNz_PG_ARBC_Q66]
1. National Demmocratic Party/stwmrcr saldfemurct [Option ID = 14961]

2. Worker's Communist Party/aw:f aeforee urcf [Option ID = 14962]

3. Popular Unity Party/digere ferct uict [Option ID = 14963]

4. Arab Socialist Bath Party/sra 3feifere arr urct [Option ID = 14964]

Correct Answer :-
e National Demmocratic Party/atoreret Saitayfeaurctt [Option ID = 14961]

67) Jamal al-Din al-Afghani had visited the Indian city of
SIATCIEIOT 31T - 3BaTIoll of fopaT s1RellRr 9162 bt ATy &6t off ?

[Question ID = 3742][Question Description = S2_qSNz_PG_ARBC_Q67]
Delhi/fceft [Option ID = 14965]

Lucknow/eraor3s [Option ID = 14966]

Burhanpur/gzsmegz [Option ID = 14967]

Hyderabad/ggmars [Option ID = 14968]

A W N -

Correct Answer :-
e Delhi/fgeeft [Option ID = 14965]

68) Observe the following personalities with their dates of death. Which one is correct?

forgatifdea caftpal 3 fparmT Fegad St 3 ?

[Question ID = 3743][Question Description = S2_qSNz_PG_ARBC_Q68]
Ahmad Kasravi Tabrezi - 1946/ 3ms1c ®wr=dl dastt - 1946 [Option ID = 14969]

Ali Shariati - 1966/ sicft eif¥encdt - 1966 [Option ID = 14970]

Ali Abd al-Raziq - 1887/31cft srsget afoim - 1887 [Option ID = 14971]

Fazlur Rahman - 1980/ wsiceamet - 1980 [Option ID = 14972]

A w N =

Correct Answer :-
o Ahmad Kasravi Tabrezi - 1946/ 3isdic @w2dt daadstt - 1946 [Option ID = 14969]

69) The capital of the first Wahabi state was
ged qardl ARYISA 6l Irstenett off ¢

[Question ID = 3744][Question Description = S2_qSNz_PG_ARBC_Q69]
1. Uyayna/sirien [Option ID = 14973]
2. Riyadh/f¥me [Option ID = 14974]
3. Diri'yya/fafsm [Option ID = 14975]
4. Jeddah/sicer [Option ID = 14976]

Correct Answer :-

e Uyayna/3arr [Option ID = 14973]

70) The modern Iraqi state came into existence in the year
snggfore s @d sil¥awa 3 s ?

[Question ID = 3745][Question Description = S2_qSNz_PG_ARBC_Q70]
1920 AD/1920 €. [Option ID = 14977]
1932 AD/1932 €. [Option ID = 14978]
1958 AD/1958 £. [Option ID = 14979]
2004 AD/2004 $. [Option ID = 14980]

A W N -

Correct Answer :-
e 1920 AD/1920 3. [Option ID = 14977]

71) Shaikh Abdul Reman al-Kawakibi originally belonged to
9A 31egel BTl 31l palfepdl Jerd: Dol D A ?
[Question ID = 3746][Question Description = S2_qSNz_PG_ARBC_Q71]

Egypt/fdg [Option ID = 14981]
Syria/3fifsn [Option ID = 14982]
Yamen/=wa1 [Option ID = 14983]
Iraq/s2 [Option ID = 14984]

A W N -

Correct Answer :-
e Egypt/farg [Option ID = 14981]

72) Read the following

A. The mother of Mu'awiyah ibn Abi Sufyan was Hind



B. Hind's father 'Utba was killed at the battle of Badr
C. Marwan | was the father of Al-Hakam

D. Yazid | was the son of Mu'awiyah Il

E. Marwan Il conquered the battle of Zab

Choose the correct answer from the options given below:

forgotferfiaa oo ug :

A. ganferms oot 3l wrITel &l AT B oft

B. &g o1 firar Sea1 ag @ gg A ARI SR

C. 3Rarol | 311 - A @I fUdr an

D. =nfers | Fsnfers @1 ue o

E. szarot |l o sia &t asr$ Sitedt

ofid fou 1w et 3 A A8t 3= ot :

[Question ID = 3747][Question Description = S2_qSNz_PG_ARBC_Q72]

A and E only/dact A siiz E [Option ID = 14985]
B and D only/dsaet B iz D [Option ID = 14986]
. A and B only/@act A 3iiz B [Option ID = 14987]
C and E only/aae C 3iiz E [Option ID = 14988]

AW N =

Correct Answer :-
e A and E only/daer A siiz E [Option ID = 14985]

73) Match List | with List Il

List | List Il

A. Jamalud-din-Afghani I. 1857 AD

B. Hasan al-Banna 11. 1903 AD
C. Shibli Nomani 111. 1839 AD
D. Abul-Ala-Maududi IV. 1906 AD

Choose the correct answer from the options given below:

et -1 B e -1l A g e

oxet -1 et -1l

A. STHTCIE IOl 3TWBaTIofl . 1857 $.

B. &3ol 31T Sooll 1l. 1903 .
C. forectt oitammoit Ill. 1839 &.
D. sreet st Higdl IV. 1906 $.

il fou o1 frpeul 3 3 A IR gforw ©
[Question ID = 3748][Question Description = S2_qSNz_PG_ARBC_Q73]

A-1,B -1V, C-1ll, D - [Option ID = 14989]
A-1ll,B-1V, C-1,D - Il [Option ID = 14990]
A-1,B-1l,C-1ll, D - IV [Option ID = 14991]
A-1V,B-1ll, C-1I, D - I [Option ID = 14992]

A W N -

Correct Answer :-
e A-Il,B-1V,C-Ill,D-I[Option ID = 14989]

74) Match List | with List Il

List | List Il

A. Muhammad bin Ismail I. d. 273 AH

B. Muslim bin Hajjaj Il. d. 256 AH
C. Muhammad bin Yazid lll. d. 261 AH
D. Muhammad bin Isa IV. d. 279 AH

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

et - et -1
A. Fesc [l sarsTT . 273 3.
B. gl fde1 asteirst 1l. 256 f2.




C. Fowic fde sl

Ill. 261 f3.

D. gesag el $31

IV. 279 &.

oifY feu o1u faasedl 3 A A8 3R gforu :

[Question ID = 3749][Question Description = S2_qSNz_PG_ARBC_Q74]

A-1,B-1I,C-1ll, D - IV [Option ID = 14993]
A-11,B-1ll,C-1,D- IV [Option ID = 14994]
A-1ll,B-1V, C- I, D - | [Option ID = 14995]
A-1,B-1,C-1V, D - Ill [Option ID = 14996]

A w N =

Correct Answer :-
e A-I,B-1l,C-Ill,D-IV[Option ID = 14993]

75) Match List | with List Il

List |

List Il

A. Jami al-Bayan fi Tafsir al-Quran

I. Ibn Jarir Tabari

B. Bahr al-Uloom

Il. Abu Ishaq Tha'alabi

C. Al-Kashf wa al-Bayan an Tafsir al-Quran

lll. Abu al-Laith Samarqgandi

D. Ma'alim al-Tanzil

IV. Abu Muhammad Husain Baghvi

Choose the correct answer from the options given below:

et -1 B e -1l A g i

et -1 et -l
A. ST 31T sRITel B aw=AlR 3rel aRIet |. soot SRR A=t
B. &2 3rc1 A Il. 3¢ s8I A3MIerdl

C. 31cT DNG-d - 31cI - SRTol 3[6I ABAR 31T BR6T
D. ssnfcrar srar dorsiica
oif< féu oru fqedl 3 A A8 3R gfore :

[Question ID = 3750][Question Description = S2_qSNz_PG_ARBC_Q75]

Il 31 areT €11 TFRBEY
IV. 3rg e g3lol sordl

A-1,B-1l,C-1l, D -1V [Option ID = 14997]
A-1Il,B-1l,C-1V,D-I[Option ID = 14998]
A-11,B-1,C-1V,D-lll [Option ID = 14999]
A-1,B-1ll,C-1l,D-IV[Option ID = 15000]

A W N -

Correct Answer :-
e A-I,B-Il,C-1ll,D-IV[Option ID = 14997]
76) Match List | with List Il
List |
A. Ottomans
B. Hamadanids
C. Fatimids Ill. Abd Allah b. Hatim
D. Aghlabids IV. Abd Allah b. Husayn
Choose the correct answer from the options given below:

List Il
I. Abdallah | b. Ibrahim
1. Mustafa Il

et -1 B e -1l A g i

Rreht -1 il

A. 3o I. sregeets | o1 squfdar
B. sacioll Il. szwr

C. wicratt I, 3reg 3iccie fdor arferer
D. serert IV. 3re¢ 3rccis fael 8301

ofla fou o1 frseul 3 3 A IR gforw ©
[Question ID = 3751][Question Description = S2_qSNz_PG_ARBC_Q76]

A-1,B-1I,C-1ll, D - IV [Option ID = 15001]
A-1,B-1,C-1IV, D - Ill [Option ID = 15002]
A-1I1,B-1,C-1I,D- IV [Option ID = 15003]
A-1,B-1ll,C- 1V, D- I [Option ID = 15004]

AW N -

Correct Answer :-
® A-I,B-Il,C-Ill,D-IV[Option ID = 15001]
77) Match List | with List Il
List |
A. Idrisids

List Il
1. 935 AD - 969 AD




B. Qachars Il. 789 AD - 985 AD
C. Ikhshidids Ill. 1077 AD - 1231 AD
D. Khwarazmi IV. 1779 AD - 1925 AD

Choose the correct answer from the options given below:

et -1 B e -1l A g i

et - | el -1l

A. sgi=it 1. 935 % A 969 & ax

B. wrar Il. 789 . A 985 $. am

C. sw9lict . 1077 £. 22 1231 §. a®
D. wwarzsait IV. 1779 £. a1 1925 ¢ ao

ofiax 3w o1 el 3 A At W= gfom :
[Question ID = 3752][Question Description = S2_qSNz_PG_ARBC_Q77]

A-11,B -1V, C-1,D-lll [Option ID = 15005]
I, B -1V, C-1l,D- | [Option ID = 15006]
I, B-1I,C-1V, D - Ill [Option ID = 15007]

A -
A.
A-1V,B-1lIl,C-1,D - Il [Option ID = 15008]

AW N =

Correct Answer :-
e A-Il,B-1V,C-1,D-Ill [Option ID = 15005]

78) Match List | with List Il

List |
IA. Harb al-Basis
B. Bu'ath war

List Il

I. 'Abs and Dhubyan

Il. Kinanah and Hawazin

C. Harb al-Fijar Ill. Banu Bakr and Banu Taghlib
D. Dahis and al-Ghabra IV. The Aws and the Khazraj
Choose the correct answer from the options given below:

et -1 B e -1l A g e

Rxeht -1 il

A. & areT a5 I. sre31 3R Fearor

B. 3171 I 1. Rpoiren 3iik saifSrel

C. &d 31a1 - fiboiR Il. =51 b2 3ii= g aeIfea
D. criéla 3ii? 3ret a1a=r V. 3red 3l zaoist

offa fou o1 frseul 3 3 A IR gforw ¢
[Question ID = 3753][Question Description = S2_qSNz_PG_ARBC_Q78]

A-11,B-1,C-1ll, D - IV [Option ID = 15009]
I, B -1V, C-1l,D - [Option ID = 15010]
IV,B-1,C-1,D - Ill [Option ID = 15011]
IV,B -1, C-1I,D - Ill [Option ID = 15012]

A W N -

A -
A -
A -

Correct Answer :-
e A-Il,B-1,C-Ill,D- IV [Option ID = 15009]

79) Match List | with List Il

List | List Il

A. Ibn Sina I. Al-Madinah al-Fadilah

B. Al-Ghazali Il. lhya Uloom al-Din

C. Al-Farabi Il. Al. Qanun fi al-Tibb

D. Al-Khwarizmi IV. Hisab al-Jabr wa al-Mugabalah

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hife

et -1 Rreh -1l

A. sool lelr . sret aicten sreT WIfSTen

B. sret areircit Il. szem 3cgg srerdtot

C. 3re1 BRIl Ill. 3re1 wIojel Bl srcifera

D. sret Faiiessa IV. {3319 31t SIg sict HpHaen

off< feu oru fpedl 3 A A8 3R gforo :

[Question ID = 3754][Question Description = S2_qSNz_PG_ARBC_Q79]

1. A-lll,B-1Il,C-1,D- IV [Option ID = 15013]




2. A-I1l,B-1ll, C-1V, D - | [Option ID = 15014]
3. A-IV,B-1,C-Il, D-Ill [Option ID = 15015]
4. A-1,B-1l,C-1ll, D- IV [Option ID = 15016]

Correct Answer :-
e A-1ll,B-1Il,C-1,D- IV [Option ID = 15013]

80) Match List | with List Il

List | List Il

A. Muhammad ibn Hasan al-Shaibani I. Ahkam al-Suq
B. Abu Bakr al-Khallad Il. Kitab al-Amwal
C. Abu Ubaid al Qasim bin Sallam lll. Kitab al-Kasb
D. Yahya bin Umar al-Kinani IV. Islah al Mal

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hife

et -1 il

A. HB8FAC el Aol 3l - ldloil |. srEDIE 31ct D

B. 3[ga®? 3ret - Fcells 1. fRpare 3ret - smEAaret
C. 31 34c 31cT - PRI a1 e Ill. fparg - 3ret -
D. srg=n {61 38R 3ret fepatrofl IV. s3ctis sret - dret

ofia 3w o1 el 3 A At W= gfom :
[Question ID = 3755][Question Description = S2_qSNz_PG_ARBC_Q80]

A-11,B -1V, C-1,D- Il [Option ID = 15017]
. A-1ll,B-1V,C-1lI, D - | [Option ID = 15018]
A-1,B-1l,C-1ll, D - IV [Option ID = 15019]
A-1V,B-1lIl,C-1,D - Il [Option ID = 15020]

AW N =

Correct Answer :-
e A-Il,B-1V,C-1,D-Ill [Option ID = 15017]

81) Arrange the following Umayyad amirs of Cordova in chronological order
A. Abdullah

B. Abd-al-Rahman-I

C. Muhammad-I

D.Al-Hakam-I

E. Hisham-I

Choose the correct answer from the options given below

forraiferRaa agegar @ Sl 3pfiRl B BIaRRIR agiag Hifsm :

3[egeele

A.

B. sreg srer sl
C. gawic-|

D. srcr-zoa-|

E. Bomar-I

il fou o1 fyeseul 3 21 & Fa= goi ¢

[Question ID = 3756][Question Description = S2_qSNz_PG_ARBC_Q81]

A, B, C, D, E [Option ID = 15021]
C, D, B, A, E [Option ID = 15022]
B,E,D,C
E,B,C,D

)y

, A [Option ID = 15023]
, A [Option ID = 15024]

y B Yy

A W N -

y» Dy &y

Correct Answer :-
e A, B, C, D, E [Option ID = 15021]

82) Arrange the following Ottoman rulers in chronological order
A. Murad |
B. Muhammad |



C. Selim |
D. Abdul Hamid |

Choose the correct answer from the options given below

foratferRaa 313l 9MRIPI Bl RAHIGRIR TPIST :

A. 3 - |

B. gssac - |

C. et - |

D. 3reget sdils - |

il fou s1e fyaseul 9 3 & 3a= goi ¢

[Question ID = 3757][Question Description = S2_qSNz_PG_ARBC_Q82]

B, C, D [Option ID = 15025]
C, D, A [Option ID = 15026]
, D, A, B [Option ID = 15027]
C, A, B [Option ID = 15028]

A W N -

’

Correct Answer :-
e A, B, C, D[Option ID = 15025]

83) Arrange the following in chronological order
A. Fatimids

B. Hamadanids

C. Tulunids

D. Aghlabids

E. Ikhshidids

Choose the correct answer from the options given below

forgsifeiRan @) PrerpAeRIR 3 :

A. wienft

B. sacrell

C. qeeht

D. sprerdt

E. swolict

il f3u a1e fyaseul 9 A W& 3= goi ¢

[Question ID = 3758][Question Description = S2_qSNz_PG_ARBC_Q83]

A, C, D, B, E [Option ID = 15029]
B, D, C, E, A [Option ID = 15030]
D, C, A, B, E [Option ID = 15031]
C, A, E, D, B [Option ID = 15032]

)y

A w N =

y Ay by

Correct Answer :-
e A, C,D, B, E[Option ID = 15029]

84) Arrange the following Abbasid Caliphs chronologically :
A. Al-Mutawakkil

B. Al-Mamun

C. Al-Hadi

D. Al-Mansur

E. Al-Rashid

Choose the correct answer from the options given below

forastifene srearit zaciiwisii o1 o a=ir 3 ?
A. 3ra1 garaifder



B. sre1 aimgget

C. are1 &6t

D. sret #izz

E. sra1 afdrg

il fou s1e fraseul 9 31 & 3a= goi ¢

[Question ID = 3759][Question Description = S2_qSNz_PG_ARBC_Q84]

1. D, C, E, B, A [Option ID = 15033]
2. A, B, C, D, E [Option ID = 15034]
3. E, D, C, B, A[Option ID = 15035]
4. B, A, E, D, C [Option ID = 15036]

)

» Ay

Correct Answer :-
e D, C, E, B, A[Option ID = 15033]

85) Arrange the following Umayyad rulers in chronological order
A. Sulayman

B. Umar Il

C. Abd al-Malik

D. Al-Walid |

E. Hisham

Choose the correct answer from the options given below

forgsifeiRaa 3ol orRI™] Bl DICTRIAGRIR TolI5y -

A. Jctamet

B. 3= fdi=r

C. 3106 3ret - AfcId

D. 3re1 - aclic g«

E. Bomr

il 3w o1 et 3 A & 3= goi ¢

[Question ID = 3760][Question Description = S2_qSNz_PG_ARBC_Q85]

D, E [Option ID = 15037]
, B, E [Option ID = 15038]
B, C [Option ID = 15039]
E

1
2.
3.
4 , D [Option ID = 15040]

Correct Answer :-
e A, B, C, D, E [Option ID = 15037]

86) Arrange the following Indian rulers in chronological order
A. Firoz Shah

B. Sher Shah

C. Aram Shah

D. Bahadur Shah

Choose the correct answer from the options given below

foaifiBan sl AIIB! B DI gHeag BT :

A. T3t oms

B. 9r oms

C. 3R 9B

D. ssIg:? 9mE

il fou s1u fyapeul 3 21 & 3a= goi ¢

[Question ID = 3761][Question Description = S2_qSNz_PG_ARBC_Q86]

1. A, B, C, D [Option ID = 15041]
2. B, A, C, D [Option ID = 15042]



3. C, A, B, D [Option ID = 15043]
4. A, C, B, D [Option ID = 15044]

Correct Answer :-
e A, B, C, D [Option ID = 15041]

87) Arrange the following philosophers chronologically, in accordance with their dates of death
A. Ibn Sina

B. Al-Razi

C. Al-Tabari

D. Al-Majusi

Choose the correct answer from the options given below

fogatfeiRaa crofform! o Sorbt Iz bt fIfd B SR Gty BRI :

A. 301 3lelt

B. sfer - sl

C. 3ret - a3t

D. 3re1 - st

oifY feu a1v facal 3 A A Ia= ol ¢

[Question ID = 3762][Question Description = S2_qSNz_PG_ARBC_Q87]

B, C, D [Option ID = 15045]
B, D, A [Option ID = 15046]
, C, D, A [Option ID = 15047]
C, A, B [Option ID = 15048]

)

Correct Answer :-
e A, B, C, D [Option ID = 15045]

88) Given below are two statements
Statement I: "Arab Muslims first settled on the Malabar coast about the end of the sixth century AD".
Statement Il: "The famous traveller Masudi visited India at the beginning of the tenth century AD".

In light of the above statements, choose the most appropriate answer from the options given below

il ol @l fdu sre 3 ¢

@el - | : "'3pd PRera AGA usdl B st B 3id I ATER dc UR D2 9
@l - |l : "gi¥g ardi A<t of cadl At & gy i sra &l argp dr

SWRITP Pl D 3MIclid A, ofld fBu s1u fRypedl 3 A AR IuYTh IR DI Tol HIIT ©
[Question ID = 3763][Question Description = S2_qSNz_PG_ARBC_Q88]

1. Both Statement | and Statement Il are correct/@perm | 3iiz |l Sieit 2t & [Option ID = 15049]

2. Both Statement | and Statement Il are incorrect/aeret | 3z || Sl siera & [Option ID = 15050]

3. Statement | is correct but Statement Il is incorrect/memwr | 3@t 8, fbog et |l srera & [Option ID = 15051]
4. Statement | is incorrect but Statement Il is correct/@em | sea @ , fpoq P |l 2@t 8 [Option ID = 15052]

Correct Answer :-
e Both Statement | and Statement Il are correct/aemr | 3iiz | 2leif 38t @ [Option ID = 15049]

89) Given below are two statements
Statement I: Abu Bakr ibn Abi Qahafa was a member of the clan of Taym of the Quraysh.

Statement Il: Most Shi'ite scholars are in agreement that Ali was buried in Ghari, west of Kufa at the site of present-day
Najaf

In light of the above statements, choose the correct answer from the options given below

il ol @l fdu sre 3 ¢

DGl - | : 31 GD2 Fool Ml PaIbI P9I Pdlcl D I AT D AGHT A

@erel - || @ siférapior ORI fRIgTel 331 a1 UR s & b 3rcil oI @I @ Uf2191 3131 3 SWoIRIT SRIT Sl adidio] 3 oIsTP @ oI A Silell STl &
SWRID Dol @ 3MIcllid A, ofid fGu 31w famedl 3 I A IUYTD IR DI TIol HBIfSIT ©



[Question ID = 3764][Question Description = S2_qSNz_PG_ARBC_Q89]

Both Statement | and Statement Il are true/wmem | 3 |1 @loll 2@t & [Option ID = 15053]

Both Statement | and Statement Il are false/aermr | 3iiz || X6l stera & [Option ID = 15054]
Statement | is true but Statement Il is false/®emo1 | 3@ & , fpoq e |l ser & [Option ID = 15055]
Statement | is false but Statement Il is true/eperme | seta 8, fdpoq weret || 3 & [Option ID = 15056]

A W N -

Correct Answer :-
e Both Statement | and Statement |l are true/wmemr | i |1 gloil 2@t & [Option ID = 15053]

90) Given below are two statements

Statement I: The murder of the third caliph did not inaugurate the series of bitter conflicts within the Muslim community
that are collectively known as the 'most organised and consolidated empire"”.

Statement Il: Abu Bakr's first challenge was to subdue rebellious tribes to secure the future of the nascent caliphate.

In light of the above statements, choose the most appropriate answer from the options given below

Sii St @eret fou a1 3 ¢

Dol - | : A1 mciivr & ac1 of R FPSH D iR iz fdarci & gjaen / o3t bl 9fsand oidl dl, BRI AR R AR AdIdd 3R
FSIYA AT’ D FU 3 SIIGH STl 3

D - |l : g g 6 uscll golicll ofF Racpea @ sufrsr o1 JRa oo @ fore R wdicll @1 srual siefior wot & oft
JURITP Dol B 3MIEllD 3, ol [Gu 318 faaeul 3 A AR IWRITD IR DI TRol DIfSIT ©
[Question ID = 3765][Question Description = S2_qSNz_PG_ARBC_Q90]

1. Both Statement | and Statement Il are correct/@per | 3iiz |l Sieit 2@t & [Option ID = 15057]

2. Both Statement | and Statement Il are incorrect/@eret | 3iiz || Sloil srera & [Option ID = 15058]

3. Statement | is correct but Statement Il is incorrect/memwr | 3@t 8, fbog et |l srera & [Option ID = 15059]
4. Statement | is incorrect but Statement Il is correct/@emt | s/ @ , fboq @t 1l 3t & [Option ID = 15060]

Correct Answer :-
e Both Statement | and Statement Il are correct/@em | 3iiz | 2leif 3t @ [Option ID = 15057]

Topic:- ArabCulture_B

1) Read the following passage and answer the questions which follows

The first systematic formulation of sociology as a distinct field of inquiry is found in the work of the 14th century North
African historian and philosopher Ibn Khaldun. Wali al-Din Abd al-Rahman Ibn Khaldun was born in Tunis in 1332 CE in an
Arab family. His fame rests on a monumental history of mankind, known as Kitab al-Ibar.

Ibn Khaldun's observations and reflections on themes that are distinctly sociological are found in the Mugaddimah, or
Prolegomena, which forms the first part of Kitab al-Ibar. In the Prolegomena, Ibn Khaldun discusses a wide range of
subjects, including the influence of environmental conditions on society and human character, different forms of political
organization and government, differences between rural and urban populations, kinship, social solidarity, and the interplay
between economic conditions and social organization. His analyses and conclusions were informed by textual sources as well
as his personal observations and experiences.

Ibn Khaldun is relatively well-known in Western scholarship. De Slane translated the Mugaddimah in French in 1863 and
Franz Rosenthal published an English translation in 1958.

H. E. Barnes and Howard Becker, in their authoritative history of sociology, hailed Ibn Khaldun as "the greatest of early
modern sociologists” (Barnes and Becker 1938:266). Ernest Gellner, a well-known British sociologist, has described Ibn
Khaldun as a superb deductive sociologist, a pioneering advocate of the method of ideal types and the greatest sociologist of
Islam (Gellner 1984: 16, 88).

forgotferR3ae sterior o ufeu 3iiz o fGu s1e uia yeoii & 3= SifSe :

14 &f orarsdl @ IR WIDI sBRIDR 3R grolford sool Fcgol Bl aiil I Silol B AN i D AR UR AR D R oRIoIel BT ATA
uacl YAIT fdrerdr 3 aciisélel 3o @dIol soo0l Fcgol DI Slod 1332 Sl 31 CIforRT @ 3Rd ul¥daR 3 g3 AT Ioibl YRl Icia: Alold sicBrRI Bi
feromet ¥eron 'fopdrget 3R’ UR snenid 3 fopdArgel s93 @ YU HPI, YFdldoll Al 'HPIEHAS' 3 se0l Aegel DI e IR Iold RIR AATSINRTY D
fafdree &rq @ farerr 3 wep fipw sre & yarae 3 sool Fcgel of WIS 3R Aol af¥g uz af¥dor Addeft ysira, Ismolifere Horod iR IRDR B
fafdroer Fasul syefior siiz 9Ed smardt @& S siar, RodgH iz snféfes Refer vd AR Folool & UruR Adel AR s el uz aaf & 3
Jotopl fadruur 3iiz forsmd grawml siiz «aftpsia eftcalur den siopdl uR snenfea 3

s fagroil 3 sool ool U YYRLg FAIgTor 3 Sl Fdkol of Serdbl Yardoll ‘#odids' @1 1863 3 & asmsr 3 siolars fsan 3iiz GisT Asioered of
1958 3 3T 3i3)Ell AT Yl i wad. arold 3iiR 3las dz of 3[Uel AATSIONR<] YD feleRT # s601 ¥cgel Pl "Haloldd MeYford
AR (aroft 3z a2 1938 : 266) aarn 3 JYRig f[gfeor Jusonz<} 3ofec SIeTerR of s60l Fcgol DI Aol oPIIGIHD AATSTIMSL
3G9l Tasu 3R HseIad ¥l Il @& AARIIR (Sicror 1984 : 16, 88) warm 3



According to the above passage, Ibn Khaldun was born in

JURITP JTEN9I @ MoRAR 360l Fcgol DI Slod Dal gl AT :
[Question ID = 3766][Question Description = S2_qSNz_PG_ARBC_Q91]

Tunis/cfert [Option ID = 15061]
Cairo/@ifgar [Option ID = 15062]
Baghdad/ss1e1s [Option ID = 15063]
Damascus/gsfiea [Option ID = 15064]

A W N =

Correct Answer :-
e Tunis/cyfort [Option ID = 15061]

2) Read the following passage and answer the questions which follows

The first systematic formulation of sociology as a distinct field of inquiry is found in the work of the 14th century North
African historian and philosopher Ibn Khaldun. Wali al-Din Abd al-Rahman Ibn Khaldun was born in Tunis in 1332 CE in an
Arab family. His fame rests on a monumental history of mankind, known as Kitab al-Ibar.

Ibn Khaldun's observations and reflections on themes that are distinctly sociological are found in the Mugaddimah, or
Prolegomena, which forms the first part of Kitab al-Ibar. In the Prolegomena, Ibn Khaldun discusses a wide range of
subjects, including the influence of environmental conditions on society and human character, different forms of political
organization and government, differences between rural and urban populations, kinship, social solidarity, and the interplay
between economic conditions and social organization. His analyses and conclusions were informed by textual sources as well
as his personal observations and experiences.

Ibn Khaldun is relatively well-known in Western scholarship. De Slane translated the Mugaddimah in French in 1863 and
Franz Rosenthal published an English translation in 1958.

H. E. Barnes and Howard Becker, in their authoritative history of sociology, hailed Ibn Khaldun as "the greatest of early
modern sociologists" (Barnes and Becker 1938:266). Ernest Gellner, a well-known British sociologist, has described Ibn
Khaldun as a superb deductive sociologist, a pioneering advocate of the method of ideal types and the greatest sociologist of
Islam (Gellner 1984: 16, 88).

forgatferi¥aa srenor ol ufGu 3z ofil feu s1e ui ygsll @ 3Iar SIS ¢

14 4 orarsst @ IR WD SBRIPR 3R gI9ifold ool Fcgael Dl dxil 3 Siiol D AN i D AR UR AASINR D BfID foRIGIHI6T DI AR
uacl YAl fdrerdr & aciisélel 31eg2 @dIol sool ¥cgol I Siod 1332 Sl 3 cIfort @ 3Rd uf¥arR 3 g3 &A1 Ioihl YRl Peia: Alora sicsra oI
fRrorre1 aon 'feparget s&R' UR snenfyda 3 Rpargel s€r @ Yeua1 Hpl, Yol Al 'JbleHs' 3 sool Jcgel &l el 3l o1 AR AABIIRY D
faforse gy @ forerr 3 b fpu s1e & Ydraen 3 sool Fcgol of TS 3R Aol af¥q uz uf¥dor JAddeft Yara, Ismlifere Horod 3R IRDR
faf3teor Tawul spEhivl sz 9Esl SMEct & o siaz, Rodcrl siiz snfdfe R-efer vd AN FHeoa & uRu= del Afda sreid freril u= aat &t 3
Jotopl fadiuur 3iiz forsmd grawml siiz waftpsia eftcalur daen siopdl Uz smenfea 3

urgre fagroil 3 sool Fcgel U PYRLg RAIgor 3 St Fdkol of Serdhl Yardon ‘#odies' @1 1863 3 @ asmen 3 siglars fpan siiz GisT ASioereT of
1958 3 oI 3id)Gll AT YaId fohn vas. aroli 3R 3Ias a2 of 3[Uel AATSINRTY YIIOTD et 3 ool Icgol ®I 'Haleldd 3NeYfold

AR} (drold 3z a2 1938 : 266) garn 3 JYRig f[gfeor JAson=} 3ofe< 3IeTeiR of $eol Fcgol DI AaI3Iol PIIGIHD AHTSTIMSL
3169l TFasu 3R HaleIad s3Il i @ AABIIRT] (Sicror 1984 : 16, 88) aarm &

The second paragraph of the above passage says that the Mugaddimabh is the first part of
SURITP eI O g} URI I el 3R1 3 b Jpieas - Yo 1eT 3 :
[Question ID = 3767][Question Description = S2_qSNz_PG_ARBC_Q92]

Kitab al-Hind/feparger f&s [Option ID = 15065]
Kitab al-lbar/fparger saz [Option ID = 15066]
Kitab al-Ilm/fdsarget sea1 [Option ID = 15067]
Kitab al-Salah/féparget 2tems [Option ID = 15068]

A w N =

Correct Answer :-
e Kitab al-Hind/fparget & [Option ID = 15065]

3) Read the following passage and answer the questions which follows

The first systematic formulation of sociology as a distinct field of inquiry is found in the work of the 14th century North
African historian and philosopher Ibn Khaldun. Wali al-Din Abd al-Rahman Ibn Khaldun was born in Tunis in 1332 CE in an
Arab family. His fame rests on a monumental history of mankind, known as Kitab al-Ibar.

Ibn Khaldun's observations and reflections on themes that are distinctly sociological are found in the Mugaddimah, or
Prolegomena, which forms the first part of Kitab al-Ibar. In the Prolegomena, Ibn Khaldun discusses a wide range of
subjects, including the influence of environmental conditions on society and human character, different forms of political



organization and government, differences between rural and urban populations, kinship, social solidarity, and the interplay
between economic conditions and social organization. His analyses and conclusions were informed by textual sources as well
as his personal observations and experiences.

Ibn Khaldun is relatively well-known in Western scholarship. De Slane translated the Mugaddimah in French in 1863 and
Franz Rosenthal published an English translation in 1958.

H. E. Barnes and Howard Becker, in their authoritative history of sociology, hailed Ibn Khaldun as “the greatest of early
modern sociologists” (Barnes and Becker 1938:266). Ernest Gellner, a well-known British sociologist, has described Ibn
Khaldun as a superb deductive sociologist, a pioneering advocate of the method of ideal types and the greatest sociologist of
Islam (Gellner 1984: 16, 88).

forgotferRae sterior ol ufeu 3iiz ofi fBu s1e Ui yooil @ 3ar S :

14 &f orredl & IR WIH! sheRIPR 3iiR groffors ool wcgor Bl Gl 3 staT B AN & D AR UR IASIART D Bfd ORIGIIGT BT AT
usdl yAII fretar 3 acfisélol sreg2 38HI6T $o01 Tegol I Slod 1332 &l 3 IforT @ srd ulvar 3 31 e Jorhl yRify Fera: Aca siesra &t
faromer ¥aon 'fparget e’ U smenf¥a & fparger sar @ yeE MP1, YIAIdoll A1 'FbiZHs' 3 s60l gl Bl el 3R Ioid R AASIIN &
fafdrse &g @ oo 3 =aeb fPu 31w & Yardell 3 ool Tcgel of TSI 3R Aleld Al UR URA9I Adell Y, ASTolfecId IdI6d 3R IRDR D
fafdioor Fawul speiivr 3R 9Es mEIdt & o iz, Reder! 3z suflkie R-efer va AENSe Feea & RIuR Hdel AR sreie fawril uz Tt &f 3
JotopI fadravr 3iiz forsmd graml siiz «iftpsra eftcalur den el ur snenfea 3

urArI fagrell 3 seo1 egel v JPYRIg figior 3 3. Felot of el yzaraon 'Poodiars' o1 1863 3 w asirur 3 siglarc fsan iz wist Astoerd of
1958 3 st 3i9)Ell ArpuT YbIfdd i wad. arold 3R IS dz of 36l AATSIONR YHIfOTeD sferert 3 seol cgel I “"Haleladd melford

AR} (aofA 3iik I 1938 : 266) sarn 3 JYR1g f[Yfeor AR 3ole lcioR of s60l gl DI Jalol oPRIGIHD JAATSIIAL
ammeel Fasu 3R HAsleIad sl Armier & AR (3rcrer 1984 & 16, 88) arm 3

According to the above passage, the Mugaddimah was translated in French by

SURITD SIENi9l B 3MofAR 'YDIZAT DI B aAHISI 3 3lofdIc v ari :
[Question ID = 3768][Question Description = S2_qSNz_PG_ARBC_Q93]

De Silva/st Brear [Option ID = 15069]
De Gaule/3h. siter [Option ID = 15070]
Abu Faris/arg wifsat [Option ID = 15071]
De Slane/st. >t [Option ID = 15072]

A WN -

Correct Answer :-
® De Silva/sl Biear [Option ID = 15069]

4) Read the following passage and answer the questions which follows

The first systematic formulation of sociology as a distinct field of inquiry is found in the work of the 14th century North
African historian and philosopher Ibn Khaldun. Wali al-Din Abd al-Rahman Ibn Khaldun was born in Tunis in 1332 CE in an
Arab family. His fame rests on a monumental history of mankind, known as Kitab al-Ibar.

Ibn Khaldun's observations and reflections on themes that are distinctly sociological are found in the Mugaddimah, or
Prolegomena, which forms the first part of Kitab al-Ibar. In the Prolegomena, Ibn Khaldun discusses a wide range of
subjects, including the influence of environmental conditions on society and human character, different forms of political
organization and government, differences between rural and urban populations, kinship, social solidarity, and the interplay
between economic conditions and social organization. His analyses and conclusions were informed by textual sources as well
as his personal observations and experiences.

Ibn Khaldun is relatively well-known in Western scholarship. De Slane translated the Mugaddimah in French in 1863 and
Franz Rosenthal published an English translation in 1958.

H. E. Barnes and Howard Becker, in their authoritative history of sociology, hailed Ibn Khaldun as “the greatest of early
modern sociologists” (Barnes and Becker 1938:266). Ernest Gellner, a well-known British sociologist, has described Ibn
Khaldun as a superb deductive sociologist, a pioneering advocate of the method of ideal types and the greatest sociologist of
Islam (Gellner 1984: 16, 88).

forgotferRae sterior o ufeu siiz ofi fou s1Q Ui gl & sar S :

14 & oraredl @ IR WIHI sheRIPR 3iiR g1ofiford ool Fcgor Bl gl 3 sior B fAY & B AR U ISR D Bfd ORIGIIGT BT AT
uscl gl fierar 3 acfisélor sreg2 3sdI61 so01 Fcgol I Slodl 1332 &3l 3 cIfort @ sra ulvar 3 311 e Jorhl yRify Fera: oma sferert ot
frorret oo 'Rparget &=’ U= smenf¥a 3 Rparge sa7 @ Yer1 MBI, Ydidel Al 'Jbleas' 3 sool Fcgal &l e6l 3l JoId AR IFeImsomg @
fafdrse &1 @ farorr 3 =Ieb fPu 31w & Yardeln 3 ool Tcgel of TSI 3R Aol afeq UR ufRd9r Adell P, ASHofcrd IsIod 3R IRDR D
fafdroor Fawul syehivr iz 9B smardt & dia siar, Roder iz snffes Rrafer vd RN FvToa & wReuR el Afdd s foe=il uz af &I &
Jotepl fadiyur 3z forsad yzawml 3iiz waftpold efScdlur der siopsdl U smenfed &



urgre fagreil 3 sool Fcgel U YYRLg fAIgtor 3 St Fdkol ot Serdhl Yardon ‘Hodies' @1 1863 3 @ asmen 3 siglars fsan siiz GisT AsioereT of
1958 3 s 3id)Gll A2l YaId fohn vas. aofi 3R 3Ias a2 of 3ol AATSINRTY, YIUTD el 3 ool Icgol ®I "Haleldd 3NEYfold
HASINR} (arof 3R a2 1938 : 266) aarn 3 JYRig [Yfeor Asmsionz=<f} srole Slcror of se01 Wcgel B Jealol PRIGIHD TSI
3G9l Tasu 3R AsIIAH 3Pl i @ AARIIRT (Sicror 1984 : 16, 88) warm &

The above passage describes Ernest Gellner as
3foi3< 3IcTol I IURNTD areN9l 3 b1 diz uz afvia fosem s 3 :
[Question ID = 3769][Question Description = S2_qSNz_PG_ARBC_Q94]

1. German anthropologist/smfer amerasm=ft [Option ID = 15073]
2. British sociologist/fgfeer wimstomzeft [Option ID = 15074]
3. Australian historian/smferns sferior [Option ID = 15075]
4. French botanist/wifi=ft gerufeiensdt [Option ID = 15076]

Correct Answer :-
® German anthropologist/sweier sieragncft [Option ID = 15073]

5) Read the following passage and answer the questions which follows

The first systematic formulation of sociology as a distinct field of inquiry is found in the work of the 14th century North
African historian and philosopher Ibn Khaldun. Wali al-Din Abd al-Rahman Ibn Khaldun was born in Tunis in 1332 CE in an
Arab family. His fame rests on a monumental history of mankind, known as Kitab al-Ibar.

Ibn Khaldun's observations and reflections on themes that are distinctly sociological are found in the Mugaddimah, or
Prolegomena, which forms the first part of Kitab al-Ibar. In the Prolegomena, Ibn Khaldun discusses a wide range of
subjects, including the influence of environmental conditions on society and human character, different forms of political
organization and government, differences between rural and urban populations, kinship, social solidarity, and the interplay
between economic conditions and social organization. His analyses and conclusions were informed by textual sources as well
as his personal observations and experiences.

Ibn Khaldun is relatively well-known in Western scholarship. De Slane translated the Mugaddimah in French in 1863 and
Franz Rosenthal published an English translation in 1958.

H. E. Barnes and Howard Becker, in their authoritative history of sociology, hailed Ibn Khaldun as "the greatest of early
modern sociologists” (Barnes and Becker 1938:266). Ernest Gellner, a well-known British sociologist, has described Ibn
Khaldun as a superb deductive sociologist, a pioneering advocate of the method of ideal types and the greatest sociologist of
Islam (Gellner 1984: 16, 88).

forgotferR3ae sterior o ufeu 3iiz ol fGu s1e uia yeoii & 3= SifSe :

14 &f orarsdt @ IR WBIDI sBRIDR 3R grolford ool Fcgol DI il I ol B AN i D AR UR AR D RfIDd oRIoIIel BT ATA
uacl YAIT fdrerdr 3 aciisélel 3o @dIol sool Fcgol DI Slod 1332 Sl 3 cIforRT @ 3R ul¥aR 3 g3 AT Ioibl YRl cia: Alold sicBrRI di
feromet ¥eron 'fopdIget 3R’ UR snenid & fopdrger s97 @ YU HPI, YFdldoll Al 'HPIEHAS' 3 s60l Aegel DI el IR Iold RIR AATSINRTY D
faforee i @ farerr 3 wrep fibw st & yarden 3 sool Fcgol of AHTST 3R Aol af¥g uz af¥dor Addeft ysira, Isolifere Horod iR IRDR B
fafdroer Fasul sywefior siiz 9Ed sErdt @& S siar, RoagE iz snfRfes Refer vd AERID Foloor & UruR Hdel AR soid il uz aaf & 3
JoopI fadruur 3iiz forsad grawml siiz «aftpsia eftcalur den siopdl ur snenfea 3

s fagroll 3 sool ool U YYRILg fAIgor 3 S Fdkol of Sordbl Yzardol ‘#odiss' o1 1863 3 & asmsrn 3 siofars fsan siiz GisT Astoered of
1958 3 3T 3i3)Ell AUl Yl i wad. arold 31k 3laS dbe of 3[Uel AATSINR<] YHIID sfeleRT # s601 Fcgel Pl "Haloldd MEYford
AR} (droft 3z a2 1938 : 266) garn 3 JYRig f[gfeor Jasonz<} 3ofec 3IeTeiR of s6ol Fcgol DI Aol oPIIGIHD AHTSTIMSL
3G9l Taau 3R HeeIad il Iraia @& JAARIIR (Sicor 1984 : 16, 88) warm &

In the last paragraph of the above passage, Ibn Khaldun is described as
SURITD JIEN9I 3 $o6l Fcgol DI SARI IR & :
[Question ID = 3770][Question Description = S2_qSNz_PG_ARBC_Q95]

Spanish sociologist /<ferer semstenzd [Option ID = 15077]
Analytical sociologist/facsuvneas Jersionxt [Option ID = 15078]
Deductive sociologist/fopmmeis Fwemsieondt [Option ID = 15079]
Arab sociologist/sra m@sien>dt [Option ID = 15080]

A wWN =

Correct Answer :-
e Spanish sociologist/3tforer wmstenz<ft [Option ID = 15077]

Topic:- ArabCulture_C

1) Read the following passage and answer the five questions which follow

The Ottomans, a group of Turkic tribesmen, established a small principality in northwestern Anatolia, crossed into Europe in



1357, and took control of the Balkans, moving their capital from Bursa to Edirne in 1366. Although defeated by Timur at
Ankara in 1402, they conquered Constantinople in 1453, making it their new capital of Istanbul. With the conquest of Egypt
and Syria in 1517, the Ottomans established a large Sunni empire over Anatolia, the Balkans, and the regions of the eastern
and southern Mediterranean. Constantly engaged in warfare with European powers, they suffered a decisive defeat at
Lepanto in 1571 and failed to take Vienna in 1683. Increasingly weakened during the 18th and 19th centuries, they
acceded to the rule of Muhammad 'Ali (r. 1805-48) as governor of Egypt in 1805. The Ottoman Empire officially
disappeared from the geopolitical map when Atatiirk abolished the sultanate in 1922 and founded modern Turkey in 1923.

forgotifepe srerior @I ug il offr feu sTw yosll B IR S ¢

qasl @ DarIcll Rl @ APg 3HiclH6T of IaR-ufweEll seIdlferRn 3 v B - A ygor &l Ferrue & sz 1357 3 RIU uR®? dicdol §ig U= forRiqgur
@ g8 1336 3 9331 A scd2 el @I suoil Istensil doirm 1402 3 sioRI d d4Z SRI WIS fpu Silel @ drasis Jeslol 1453 3 arddforn
U= fOerI gra & 3ii sedaige ol off Isiemil garn 1517 31 By siiz A ur siia o e 3t siicderet of seIdlferRI, dicmol &I 3iiz gdf aam
Si3rofl IERRAPRI Siql U= U f9Iret ool AHISA FAIUd foan IRl o1ftpl @ AT foRAR g @ ged 1571 3 cuicl 3 forvrixe »u A
TR U 3R 1683 3 ferren uz fosra 3 fawer & 18 o siiz 19 o 1< 3 3orcht R-afer 8l s1fered waik §¢ o 1805 9 Ry d srack & »u
3 F&3IG 3rell @1 9RTat (1805 - 48) &1 sraId® ERI 1922 3 Acaoa & zrcd 3fi 1923 3 snegfor gast Bl remuen @ 1er & siidiaret
JATHISA DI Y - AsIfolfered ATGIRI A IR¥ca AT 31 SR

The Ottamans crossed into Europe in 1357 and took control of

st of JPRIu 3 cilac a2 1357 3 fopa1 ur foriqur fopenm ?
[Question ID = 3771][Question Description = S2_qSNz_PG_ARBC_Q96]

. France/wi [Option ID = 15081]

. Germany/swift [Option ID = 15082]

. The Balkans/arcaor [Option ID = 15083]
. Spain/3Ue [Option ID = 15084]

A W N -

Correct Answer :-
e France/wi [Option ID = 15081]

2) Read the following passage and answer the five questions which follow

The Ottomans, a group of Turkic tribesmen, established a small principality in northwestern Anatolia, crossed into Europe in
1357, and took control of the Balkans, moving their capital from Bursa to Edirne in 1366. Although defeated by Timur at
Ankara in 1402, they conquered Constantinople in 1453, making it their new capital of Istanbul. With the conquest of Egypt
and Syria in 1517, the Ottomans established a large Sunni empire over Anatolia, the Balkans, and the regions of the eastern
and southern Mediterranean. Constantly engaged in warfare with European powers, they suffered a decisive defeat at
Lepanto in 1571 and failed to take Vienna in 1683. Increasingly weakened during the 18th and 19th centuries, they
acceded to the rule of Muhammad 'Ali (r. 1805-48) as governor of Egypt in 1805. The Ottoman Empire officially
disappeared from the geopolitical map when Atatiirk abolished the sultanate in 1922 and founded modern Turkey in 1923.

forgstifepe srerior @l ug 3ii? ofld fCu a1w geoil & 3R S &

qasl @ warIcll Pl & APp 3HilH6T of IaR-ufwell seIdlfer 3 v B - A ygor &l Ferrue & siiz 1357 3 R uR®? dicdol §ig U= forRiqgur
@ 3¢ 1336 3 S=A1 A e ui3el @I 3uoil rstesil goirnm 1402 3 iR 3 (3R GRI URIRIA fpu Siol & drhasic Jeaiol 1453 3 arddgforn
U= fIer1 gra & 3iiR seaige ol off =il garn 1517 31 By siiz A ur sfia @ re 3t sifceret of seIdlferI, dicmol &I 3iiz gdf aam
Si3rofl IERRAPRI Sigl U U f9rret Hooll AYISA FAIUd fdoan IRl orftpl @ AT foRAR g @ ged 1571 3 cuicl 3 forvrixe wu A
TR U 3R 1683 3 ferren u? fosra 3 fawer & 18 o siiz 19 o 1< 3 o1t R-aufer 8l s1f2rep wailk g8 fpog 1805 9 Ry @ stk @ wu
3 F&w3c 3rell 1 9RTat (1805 - 48) &1 sraIdd ERI 1922 3 Acdord @ e 3fiz 1923 3 sneffora gast Bl renuen @ 1er & siidieret
IS DI 9 - AsIfolfered ATGIRI A IR dea AT 31 SR

In 1366, the Ottomans shifted their capital from Bursa to

1366 31 3ifcXareT of g3 bl SPIE 33 3ol USTeefl JotrRIT

[Question ID = 3772][Question Description = S2_qSNz_PG_ARBC_Q97]
Ankara/si@rr [Option ID = 15085]

Edirne/uf3at [Option ID = 15086]

Istanbul/s¥aiget [Option ID = 15087]

Konya/@een [Option ID = 15088]

AW N =

Correct Answer :-



® Ankara/siwrr [Option ID = 15085]

3) Read the following passage and answer the five questions which follow

The Ottomans, a group of Turkic tribesmen, established a small principality in northwestern Anatolia, crossed into Europe in
1357, and took control of the Balkans, moving their capital from Bursa to Edirne in 1366. Although defeated by Timur at
Ankara in 1402, they conquered Constantinople in 1453, making it their new capital of Istanbul. With the conquest of Egypt
and Syria in 1517, the Ottomans established a large Sunni empire over Anatolia, the Balkans, and the regions of the eastern
and southern Mediterranean. Constantly engaged in warfare with European powers, they suffered a decisive defeat at
Lepanto in 1571 and failed to take Vienna in 1683. Increasingly weakened during the 18th and 19th centuries, they
acceded to the rule of Muhammad 'Ali (r. 1805-48) as governor of Egypt in 1805. The Ottoman Empire officially
disappeared from the geopolitical map when Atatiirk abolished the sultanate in 1922 and founded modern Turkey in 1923.

forgatifdpe srerior @1 ue 3iiz offd feu s1e gesll & IR < ¢

gl D PaRrIcll clvll & AE 36 of ITR-ufREd seIdlfer 3 v 81 - A YgoI &I Femueln &I ik 1357 3 JRIU ur®: dicwe gig UR foriqur
P gu 1336 3 a2 A scp2 ofyel Bl 3ucil Istensht doirm 1402 3 sipRI 3 TR SRI RIS fpu siel @ arasis 3eelel 1453 3 @ddl

U= fIsrI gra i 3iiz sedaige ol off st gorn 1517 31 By siiz A ur sfia @ e 8t siicioret of seIdlferI, dicwol 81 3iiz gdf aam
Sf2oll sgTERRIPIERI Sl UR U frerre Jqoofl ARSI FeftE fopan IR o1fepal & 12 foRaR gg wed gud 1571 3 cuidl 3 foorke wu A
U gU 3R 1683 3 ferron U fosra 3 fawer 38 18 df sz 19 & 1<t 3 Sordbt Rrerfer siiz siferd wasiz g€ fvoq 1805 3 fig @ sraek @ wu
3 Feac 3rell @1 96t (1805 - 48) &1 srardd ERI 1922 3 Acdord @ zrcd 3fiz 1923 3 snggfora gast &l renuenr & 12 & siiciarot
AHISA DI Y - AsIfolfered AR A R dca AT 31 SR

The Ottomans were defeated at Ankara by
3iPRI 3 3iicIAeT DI fbaral U fopan ?

[Question ID = 3773][Question Description = S2_qSNz_PG_ARBC_Q98]
Muhammad Ali Pasha/djgae1c sieft urem [Option ID = 15091]

The Byzantines/ars3ieiersat [Option ID = 15092]

Timur/d&sz [Option ID = 15089]

The Safavids/awfas [Option ID = 15090]

A wN =

Correct Answer :-
e Timur/ds [Option ID = 15089]

4) Read the following passage and answer the five questions which follow

The Ottomans, a group of Turkic tribesmen, established a small principality in northwestern Anatolia, crossed into Europe in
1357, and took control of the Balkans, moving their capital from Bursa to Edirne in 1366. Although defeated by Timur at
Ankara in 1402, they conquered Constantinople in 1453, making it their new capital of Istanbul. With the conquest of Egypt
and Syria in 1517, the Ottomans established a large Sunni empire over Anatolia, the Balkans, and the regions of the eastern
and southern Mediterranean. Constantly engaged in warfare with European powers, they suffered a decisive defeat at
Lepanto in 1571 and failed to take Vienna in 1683. Increasingly weakened during the 18th and 19th centuries, they
acceded to the rule of Muhammad 'Ali (r. 1805-48) as governor of Egypt in 1805. The Ottoman Empire officially
disappeared from the geopolitical map when Atatiirk abolished the sultanate in 1922 and founded modern Turkey in 1923.

forotifese srerior 1 ue iz ofid 3w are gl & 3az ¢ :

qal @ darIcll Pl @ W3 3HicIdH6T of IaR-ufEl seIdlferRn 3 v B - A YgorI &l Feruel & siik 1357 3 RIU uR®? dicdol 8 UR forRiqur
B 38 1336 3 a2 A sep2 oiSel Bt Uil Istencht doirm 1402 3 siRI # TR SRI WIS fRpu siet & arasis 3salol 1453 3 ardgforn
U2 fasrI gr 6 3iiz sedige ol off Istensht doirn 1517 3 B sz 2Mf¥=n uz Sfia & arer & siidlre of seIdAlfern, arcdet & ik gdf aen
Sf3rofl spgrerRIPRI Il U= v fRrerret ool AT FeAIfUd o JRIdiRT orftpll @ AT foRaR g g d 1571 3 cuicl 3 forvrze »u A
WA U 3R 1683 3 ferren uz fosrn 3 fawear 3§ 18 df siiz 19 o w1t 3 Sorcbt Rraufer siiz siferad wasiR §¢ fbodg 1805 9 3] @ srach & wu
3 gadaac 3rcll @I 91RTel (1805 - 48) a1 srarge @RI 1922 3 Acdora @ Frcd iR 1923 3 sngyforad gadl &I Femuol o AT 8l sifciaet
AT DI 9 - AsIfolfered ATeIfrg A if¥dca AATT 3 SR

The above passage says that in 1453 the Ottomans conquered
3T JTEN9l D 3ARAR, 1453 3 sifdiaret of a1 uz fosrr yra &t ?

[Question ID = 3774][Question Description = S2_qSNz_PG_ARBC_Q99]
1. Damascus/gfdem [Option ID = 15093]

2. Cairo/d2 [Option ID = 15094]

3. Samarqgand/wrR®s [Option ID = 15095]

4. Constantinople/@zdgforn [Option ID = 15096]



Correct Answer :-
e Damascus/gfie® [Option ID = 15093]

5) Read the following passage and answer the five questions which follow

The Ottomans, a group of Turkic tribesmen, established a small principality in northwestern Anatolia, crossed into Europe in
1357, and took control of the Balkans, moving their capital from Bursa to Edirne in 1366. Although defeated by Timur at
Ankara in 1402, they conquered Constantinople in 1453, making it their new capital of Istanbul. With the conquest of Egypt
and Syria in 1517, the Ottomans established a large Sunni empire over Anatolia, the Balkans, and the regions of the eastern
and southern Mediterranean. Constantly engaged in warfare with European powers, they suffered a decisive defeat at
Lepanto in 1571 and failed to take Vienna in 1683. Increasingly weakened during the 18th and 19th centuries, they
acceded to the rule of Muhammad 'Ali (r. 1805-48) as governor of Egypt in 1805. The Ottoman Empire officially
disappeared from the geopolitical map when Atatiirk abolished the sultanate in 1922 and founded modern Turkey in 1923.

forgotifdsd srerior o ug 3iiz offad fu s1g gosil D 3az ¢ :

gl & PaRIcll clivll & AE i of IR-ufREd seIdifer 3 v B¢ - A Y&oI oI Fermueln &I ik 1357 3 PRIU urm: dicwel g UR foriqur
@ gu 1336 31 s3A1 A e uiel @I 3uoil st goirnm 1402 3 3iPRI 3 A3 GRI URISIA bR Siol @ drasig Jeaiol 1453 3 arddgforn
Uz fasrr gr 6 $iik sedige @l off Istencil doirn 1517 3 By siiz 2Mf¥=n uz Sfia @ wmer & sifdere of soIdlfer, arcaer 8 ik gdf aem
Sf2oll yIERRIPIRI Sl UR U fArerret JAoofl Ay Fenfte fopan RIURT o1ftpal @ 12 oRaR gg @ gud 1571 Jf cuid 3 foorke wu A
U gU 3k 1683 & ferron Uz forsrar 3 fawer 38 18 df 3z 19 df w1t & Sordbi Rrerfer siiz siferd asiz g€ fvoq 1805 3 figy @ sraelk & wu
3 Feaac 3rell 1 976t (1805 - 48) &1 srardd I 1922 3 Acdord o ucd 3fiz 1923 3 snefforas gast Bl renuenr @ 12 & siidiaot

AR DI Y - AsTlolicId Aol A MRIrd AT 3l SRIT

The above passage says that in 1683 the Ottomans failed to conquer
SNl @ 3MeRIR, 1683 3 sifciars fep=1 Siidor 3 sl 36 ?

[Question ID = 3775][Question Description = S2_qSNz_PG_ARBC_Q100]
1. London/eigar [Option ID = 15097]

2. Paris/df [Option ID = 15098]

3. Vienna/frren [Option ID = 15099]

4. Berlin/affor [Option ID = 15100]

Correct Answer :-
e | ondon/cigat [Option ID = 15097]





